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Y=245 (dx=-2.3e-01, do=-1.2e-02)

f=9, X=3978.5

Y=491 (dx=-1.6e-01, do=-1.4e-02)

pfsArm
| =™ (x=398231,0=131)

calExp
= (x=3982.08, 0=1.30)
— Residual*s

= Trace

T pfsArm
| ™ (x=3979.56, 0=1.36)

1 calExp
= (x=3979.40, 0=1.34)

e Residual*5
== Trace

Y=1228 (dx=-1.0e-01, do=-4.9e-02)

Y=1473 (dx=-5.7e-02, do=-7.8e-03)

e Residual*5
= Trace

I pfsArm I pfsArm
| = (x=3974.67,0=139) T 1 = (x=3974.07, 0=1.28)

T 1 calExp 1 calExp
— (x=3974.57, 0=1.34) = (x=3974.02, 0=1.27)

e Residual*5
= Trace

Y=2210 (dx=-2.7e-02, do=-1.9e-02)

Y=2456 (dx=-4.9e-02, do=6.6e-03)

e Residual*5
- w— Trace

T I pfsArm pfsArm
1 = (x=3974.09, 0=1.28) | = (x=3974.68,0=137)

1 calExp 1 calExp
= (x=3974.07, 0=1.26) == (x=3974.63, 0=1.38)

e Residual*5
= Trace

Y=3193 (dx=-2.7e-02, do=-2.6e-02)

1
Y=3439 (dx=-5.8e-02, do=-2.2e-02)

pfsArm
1 = (x=3979.18, 0=128)

calExp

(x=3979.15, 0=1.26)
e Residual*5
| Trace

pfsArm
| ™ (x=3981.45,0=131)

calExp
= (x=3981.40, 0=1.29)
= Residual*5
- Trace

3970 3980 3990

3970 3980 3990

Y=736 (dx=-2.1e-01, do=-3.9e-02)

pfsArm
| ™ (x=3977.47,0=1.34)
b 1 calExp

= (x=3977.26, 0=1.31)
m— Residual*s
== Trace

Y=1719 (dx=-8.1e-02, do=-2.5€-02)

pfsArm
| ™ (x=3973.61,0=136)
calExp
= (x=3973.53, 0=1.34)
= Residual*5
= Trace

Y=2702 (dx=-3.0e-02, do=-1.9e-02)

pfsArm

| =™ (x=3975.72, 0=1.40)
1 calExp
= (x=3975.70, 0=1.38)

e Residual*s
== Trace

1
Y=3684 (dx=1.6e-02, do=-9.4e-03)

pfsArm
| ™ (x=3984.30,0=128)

. | calExp
= (x=3984.31, 0=127)
= Residual*5
1 - Trace
i |
|
1
- =y
1

3970 3980 3990 4000

Y=982 (dx=-9.1e-02, do=-6.2e-02)
T

pfsArm
| ™ (x=3975.76, 0=1.43)
1 calExp
= (x=3975.67, 0=1.36)
m—_Residual*5
== Trace

Y=1965 (dx=-6.2e-02, do=-3.9e-02)

pfsArm
. | = (x=3973.61,0=1.38)

calExp
= (x=3973.55, 0=1.34)
e Residual*5

== Trace

Y=2947 (dx=-4.4e-02, do=-3.0e-03)

pfsArm

1 m—(x=3977.30, 0=1.29)
1 calExp
—(x=3977.25, 0=1.28)

e Residual*5
== Trace

Y=3930 (dx=-7.0e-02, do=-3.9€-02)

pfsArm
| = (x=3987.63,0=1.34)

calExp

(x=3987.56, 0=1.30)
e Residual*5
== Trace

3980 3990 4000
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Y=245 (dx=-1.7e-01, do=-2.3e-03)

f=12, X=3959.9

Y=491 (dx=-1.6e-01, do=-1.4e-02)

w— Residual*5
= Trace

pfsArm pfsArm
| = (x=3963.54,0=128) 1 = (x=3960.94, 0=1.27)
1 calExp 1 calExp
= (x=3963.38, 0=1.28) = (x=3960.78, 0=1.26)

-1 m— Residual*5
== Trace

Y=1228 (dx=-1.0e-01, do=-3.6e-03)

Y=1473 (dx=-5.1e-02, do=-2.0e-02)

m—— Residual*5
= Trace

7 T fsArm pfsArm
1 = (x=3956.16, 0=1.27) | = (x=3955.43,0=127)

1 calExp 1 calExp
= (x=3956.06, 0=1.26) T = (x=3955.38, 0=1.25)

m—— Residual*5

Y=2210 (dx=-3.7e-02, do=-2.0e-02)

Y=2456 (dx=-1.1e-02, do=-8.3e-03)

m—— Residual*5
w— Trace

I pfsArm I pfsArm
| ™ (x=3955.47,0=125) | ™ (x=3956.19, 0=1.25)

- 1 calExp T 1 calExp
= (x=3955.43, 0=123) = (x=3956.18, 0=1.24)

m— Residual*5
= Trace

e Residual*5
| Trace

1
Y=3193 (dx=-4.6e-02, do=-2.1e-02) Y=3439 (dx=-2.8e-02, do=-1.2e-02)
pfsArm - T pfsArm
| ™ (x=3960.48, 0=127) | ™ (x=3962.76, 0=1.26)
I r— (CEI:E;QPEO.44, 0=1.25) I — (c:I:EBXgEZ 73, 0=1.24)

m— Residual*5

3950 3960 3970

3950 3960 3970

Y=736 (dx=-1.4e-01, do=-9.6e-03)

T pfsArm
| ™ (x=3958.80, 0=128)
1 calExp

= (x=3958.66, 0=1.27)
- —Residual*s
== Trace

Y=1719 (dx=-6.6e-02, do=8.6e-04)

Y=982 (dx=-9.8e-02, do=-1.5e-02)
T

pfsArm
| ™ (x=3957.28,0=127)
1 calExp
= (x=3957.18, 0=126)
. — Residual*s
== Trace

Y=1965 (dx=-4.7e-02, do=-1.0e-03)

m——Residual*5
= Trace

Y=2702 (dx=-3.9e-02, do=-2.3e-02)

I pfsArm
1 = (x=3957.25, 0=125)

T 1 calExp
m—(x=3957.21, 0=122)

m— Residual*5
= Trace

Y=3684 (dx=-4.8e-02, do=2.6e-02)

pfsArm
I ™ (x=3965.56, 0=125)

| calExp

= (x=3965.51, 0=1.27)
m— Residual*5

= Trace

3950 3960 3970 3980

— T fsArm T pfsArm
1 = (x=3955.11, 0=1.26) 1 = (x=3955.13, 0=1.26)

1 calExp 1 calExp
= (x=3955.05, 0=1.26) = (x=3955.08, 0=1.26)

m——Residual*5
= Trace

1
Y=2947 (dx=-4.1e-02, do=1.1e-02)

I pfsArm

| ™ (x=3958.65 0=125)

1 calExp
m—(x=3958.60, 0=1.26)

m——Residual*5
== Trace

Y=3930 (dx=-1.0e-01, do=-8.5e-03)

T pfsArm
1 = (x=3968.94, 0=123)

calExp
= (x=3968.83, 0=1.23)
m— Residual*5
== Trace

1
3960 3970 3980
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Y=245 (dx=-1.7e-01, do=1.1e-02)

f=25, X=3878.8

Y=491 (dx=-1.6e-01, do=4.4e-04)

= (x=3881.91, 0=1.28)
w— Residual*5
= Trace

N T pfsArm T pfsArm
1 = (x=3882.08, 0=1.27) | = (x=3879.58,0=1.28)
1 calExp 1 calExp

= (x=3879.42, 0=1.28)
m— Residual*s
== Trace

Y=1228 (dx=-4.3e-02, do=-1.0e-02)

Y=1473 (dx=-1.7e-02, do=-3.0e-02)

pfsArm
| = (x=387522,0=127)

1 calExp
- = (x=3875.18, 0=1.26)
m—— Residual*5
= Trace

pfsArm
| ™ (x=3874.56,0=127)
calExp
— (x=3874.54, 0=1.24)
m— Residual*5
= Trace

1
Y=2210 (dx=2.7e-02, do=-3.7e-03)

Y=2456 (dx=2.6e-02, do=-1.1e-02)

m—— Residual*5
w— Trace

pfsArm pfsArm

i | = (x=3874.67, 0=1.25) | = (x=3875.37,0=124)
1 calExp 1 calExp

m—(x=3874.70, 0=1.25) m—(x=3875.40, 0=1.23)

m— Residual*5
= Trace

1
Y=3193 (dx=-9.0e-03, do=-1.3e-02)

Y=3439 (dx=-4.9e-03, do=-2.3e-02)

pfsArm
| = (x=3879.46, 0=124)

| calExp

= (x=3879.45, 0=1.23)
w— Residual*5
= Trace

pfsArm
| = (x=3881.61,0=124)

calExp
= (x=3881.61, 0=1.22)
m— Residual*s

- == Trace

3870 3880 3890

3870 3880 3890

Y=736 (dx=-1.0e-01, do=-1.3e-02)

T pfsArm
| ™ (x=3877.65,0=129)

1 calExp
= (x=3877.55, 0=127)

m—— Residual*5
== Trace

Y=1719 (dx=1.6e-03, do=-1.5e-02)

pfsArm
| ™ (x=387429,0=1.25)

1 calExp
E = (x=3874.30, 0=124)
e Residual*5
== Trace

Y=2702 (dx=1.3e-02, do=-1.3e-02)

pfsArm

1 — (x=3876.38, 0=1.24)
1 calExp

m—(x=3876.39, 0=123)

m——Residual*5
== Trace

Y=3684 (dx=-2.6e-02, do=-1.4e-02)

pfsArm
| = (x=3884.25,0=123)

calExp
= (x=3884.22, 0=1.22)
m—Residual*5
- Trace

3870 3880 3890 3900

Y=982 (dx=-8.5e-02, do=-2.7e-02)

pfsArm
| ™ (x=387624,0=127)

1 calExp
= (x=3876.16, 0=1.25)

Y=1965 (dx=1.4e-02, do=-1.3e-02)

pfsArm
| ™ (x=3874.33,0=126)
calExp
= (x=3874.35, 0=1.24)
m—Residual*5
= Trace

1
Y=2947 (dx=2.3e-02, do=-4.8e-02)
I pfsArm
7 | = (x=3877.71,0=1.25)
I — (?3577.73, 0=1.20)

m——Residual*5
== Trace

Y=3930 (dx=-1.2e-02, do=-1.3e-02)

pfsArm
| = (x=3887.39, 0=1.24)

calExp
= (x=3887.38, 0=122)

3880 3890 3900
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Y=245 (dx=5.3e-03, do=2.0e-02)

f=125, X=3258.2

Y=491 (dx=2.4e-02, do=-1.7e-02)

Y=736 (dx=9.0e-02, do=-1.0e-02)

Y=982 (dx=8.1e-02, do=-8.8e-03)

T pfsArm
| ™ (x=3258.93,0=125)

1 calExp
= (x=3258.93, 0=127)

e Residual*s
= Trace

T pfsArm
| ™ (x=3257.69, 0=128)

calExp
= (x=3257.72, 0=1.26)

e Residual*5
== Trace

T pfsArm
| ™ (x=3256.79,0=126)
1 calExp
= (x=3256.88, 0=1.25)
— Residual*s
== Trace

T pfsArm
1 = (x=3256.20, 0=127)
1 calExp

= (x=3256.28, 0=1.26)
m— Residual*5
== Trace

Y=1228 (dx=8.0e-02, do=-3.0e-03)

Y=1473 (dx=1.0e-01, do=1.2e-02)

Y=1719 (dx=7.9e-02, do=2.4e-02)

Y=1965 (dx=7.6e-02, do=1.1e-02)

I pfsArm
| = (x=325577,0=125)
1 calExp
= (x=3255.85, 0=1.25)
= Residual*5
= Trace

pfsArm
| ™ (x=3255.60, 0=125)

calExp
= (x=3255.70, 0=1.26)
= Residual*5

= Trace

pfsArm
| ™ (x=3255.58,0=129)
calExp
= (x=3255.65, 0=1.31)
= Residual*5
= Trace

pfsArm
| ™ (x=3255.77,0=123)

1 calExp
= (x=3255.85, 0=1.24)

e Residual*5

== Trace

1
Y=2210 (dx=9.0e-02, do=-3.0e-03)

1
Y=2456 (dx=1.3e-01, do=-2.2e-02)

1
Y=2702 (dx=8.0e-02, do=-1.7e-02)

1
Y=2947 (dx=8.1e-02, do=-5.8e-02)

e Residual*5
w— Trace

pfsArm pfsArm

1 = (x=3256.15, 0=1.22) | = (x=3256.62,0=121)
1 calExp 1 calExp

m—(x=3256.24, 0=1.21) —(x=3256.74, 0=1.19)

e Residual*5
= Trace

pfsArm

1 m—(x=3257.30, 0=1.20)
1 calExp

= (x=3257.38, 0=1.19)

e Residual*s
== Trace

pfsArm

1 m—(x=3258.15, 0=1.24)
1 calExp

"= (x=3258.23, 0=1.18)

e Residual*5

Y=3193 (dx=6.1e-02, do=2.8e-02)

Y=3439 (dx=7.6e-02, do=3.1e-02)

Y=3684 (dx=1.5e-01, do=1.1e-02)

Y=3930 (dx=1.5e-01, do=-7.0e-03)

e Residual*5
| Trace

T pfsArm pfsArm
1 = (x=3259.21, 0=1.19) 1 = (x=3260.50, 0=1.21)
| calExp calExp

= (x=3259.28, 0=1.22) = (x=3260.58, 0=1.24)

e Residual*5
= Trace

T pfsArm T pfsArm
1 = (x=3262.11, 0=1.19) | = (x=3263.97, 0=120)
| calExp | calExp

= (x=3262.27, 0=1.20) = (x=3264.12, 0=1.19)

e Residual*s
= Trace

e Residual*5
== Trace

3250 3260 3270

3250 3260 3270

3250 3260 3270

3250 3260 3270
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Y=245 (dx=-1.4e-02, do=-1.5e-03)

f=160, X=3041.9

Y=491 (dx=1.4e-02, do=6.4e-03)

T pfsArm
1 = (x=3041.96, 0=122)
1 calExp

= (x=3041.95, 0=1.22)

e Residual*s
= Trace

pfsArm
1 = (x=3041.05, 0=123)

calExp
= (x=3041.06, 0=1.23)
m— Residual*s

== Trace

1
Y=1228 (dx=4.5e-02, do=-3.6€-02) Y=1473 (dx=6.9e-02, do=-3.3e-02)
I fSArm -1 I fsArm
| = (x=3039.72, 0=124) | ™ (x=3039.67, 0=123)
I r— (C;LEBXOPBQ.77, 0=1.20) I — (C:I=E3)(0,339‘74, 0=1.20)

e Residual*5
= Trace

e Residual*5
= Trace

1 1
Y=2210 (dx=4.5e-02, do=1.1e-03) Y=2456 (dx=6.8e-02, do=-2.7e-02)
pfsArm I pfsArm
| ™ x=3040.31,0=119) | ™ (x=3040.72, 0=1.20)
1 e (cflggm.as, 0=1.19) | — ((f'f;&o 79, 0=1.17)

e Residual*5
w— Trace

- e Residual*5

== Trace

Y=3193 (dx=9.7e-02, do=-4.5e-02)

Y=3439 (dx=8.3€-02, do=-4.3e-02)

T pfsArm
| ™ (x=3042.88, 0=1.18)

calExp
= (x=3042.98, 0=1.14)
= Residual*5
= Trace

pfsArm
1 = (x=3044.00, 0=1.18)

calExp
= (x=3044.09, 0=1.13)
= Residual*5
- Trace

3030 3040 3050

3030 3040 3050 3060

Y=736 (dx=4.3e-02, do=-2.6e-02)

T pfsArm
- I = (x=3040.39, 0=1.26)

1 calExp
= (x=3040.43, 0=123)

= Residual*5
== Trace

pfsArm
T 1 = (x=3040.00, 0=123)

Y=1719 (dx=6.6e-02, do=-7.1e-03)

Y=982 (dx=5.8e-02, do=-9.2e-03)
T

1 calExp
= (x=3040.06, 0=1.22)

e Residual*5
== Trace

Y=1965 (dx=1.1e-01, do=-5.8e-03)

N T pfsArm T pfsArm
| = (x=3039.74, 0=1.23) 1 = (x=3039.99, 0=1.20)

1 calExp 1 calExp
= (x=3039.81, 0=1.22) = (x=3040.11, 0=120)

e Residual*5
= Trace

1

Y=2702 (dx=9.5e-02, do=-2.3e-02)
| f:igéczl.az, 0=1.19)
I [ (c:f;gal.n, 0=1.17)

e Residual*s
== Trace

Y=3684 (dx=7.1e-02, do=4.8e-04)

pfsArm
| =™ (x=304529, 0=1.17)

| calExp

= (x=3045.36, 0=1.17)
= Residual*5
- Trace

3030 3040 3050

e Residual*5
= Trace

|

Y=2947 (dx=9.6e-02, do=2.9e-02)
I pfsArm
1 = (x=3042.04, 0=1.18)
1 [ (cf‘f;gaz.la, 0=121)

e Residual*5
== Trace

T
1

Y=3930 (dx=9.3e-02, do=-8.1e-03)

T pfsArm

. | ™ (x=3046.83, 0=1.18)
| calExp

= (x=3046.93, 0=1.17)

e Residual*5
== Trace

3060 3030 3040 3050 3060
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Y=245 (dx=2.3e-02, do=-8.0e-03)

f=170, X=2980.1

Y=491 (dx=5.8e-02, do=-5.4e-03)

= Trace

pfsArm pfsArm
1 — (x=2979.99, 0=1.24) 1 — (x=2979.17, 0=1.23)
1 calExp 1 calExp
= (x=2980.02, 0=1.23) = (x=2979.23, 0=123)
s Residual*5 m— Residual*s

== Trace

m—— Residual*5
= Trace

| 1
Y=1228 (dx=7.0e-02, do=-3.8e-02) Y=1473 (dx=1.2e-01, do=-3.7e-02)
I pfsArm I pfsArm
1 = (x=2978.06, 0=1.23) 1 = (x=2978.03, 0=1.22)
1 — calExp 1 — calexp
(x=2978.13, 0=1.19) (x=2978.15, 0=1.18)

m—— Residual*5
= Trace

1
Y=2210 (dx=1.4e-01, do=-3.4e-02)

Y=2456 (dx=1.0e-01, do=-1.1e-02)

m—— Residual*5
w— Trace

pfsArm pfsArm
| ™ (x=2978.64,0=1.19) 1 = (x=2979.10, 0=1.18)
1 calExp 1 calExp
m—(x=2978.78, 0=1.15) m—(x=2979.20, 0=1.17)

m— Residual*5
= Trace

e Residual*5
| Trace

1
Y=3193 (dx=1.1e-01, do=-2.1e-02) Y=3439 (dx=8.0e-02, do=-2.4e-02)
T pfsArm T pfsArm
1 m—(x=2981.15, 0=1.17) 1 m—(x=2982.17, 0=1.17)
I = ;:EI:EZXQPBI.ZE, 0=1.14) I — (c:I:EZXE;)BZ.ZS, 0=1.14)

m— Residual*5
= Trace

2970 2980 2990

2970 2980 2990

Y=736 (dx=5.2e-02, do=-2.0e-02)

Y=982 (dx=9.4e-02, do=-4.0e-02)

pfsArm
. | ™ x=2978.57, 0=1.25)

1 calExp
= (x=2978.62, 0=1.23)
—Residual*s
== Trace

T pfsArm
1 = (x=2978.24, 0=123)
1 calExp

= (x=2978.33, 0=1.19)
= Residual*5
== Trace

Y=1719 (dx=1.2e-01, do=-3.8e-02)

Y=1965 (dx=1.3e-01, do=-3.1e-02)

I pfsArm
1 = (x=2978.13, 0=121)
1 calExp
— (x=2978.24, 0=1.17)
e Residual*5
= Trace

pfsArm
| ™ (x=2978.33,0=121)
1 calExp

—(x=2978.46, 0=1.17)
m—Residual*5
== Trace

Y=2702 (dx=1.4e-01, do=-2.0e-02)

Y=2947 (dx=1.0e-01, do=-2.6e-02)

pfsArm
| ™ (x=2979.61,0=1.19)
1 calExp

m—(x=2979.75, 0=1.17)
m——Residual*5
= Trace

Y=3684 (dx=3.1e-02, do=-1.9e-03)

pfsArm
| ™ (x=2983.38,0=1.17)
-1 | calExp
= (x=2983.41, 0=1.16)
m—Residual*s
- Trace

pfsArm
| ™ (x=2980.31 0=117)

1 calEx
= (x=2980.41, 0=1.15)

m——Residual*5
== Trace

Y=3930 (dx=1.1e-01, do=-1.1e-02)

pfsArm
| = (x=2984.84,0=1.17)

calExp
= (x=2984.95, 0=1.16)
m—Residual*5
- Trace

2970 2980 2990

2970 2980 2990 3000
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Y=245 (dx=1.5e-01, do=-2.7e-01)

f=171, X=2974.1

Y=491 (dx=-1.4e-05, do=-1.5e-01)

pfsArm
= (x=2975.68, 0=1.90)

calExp
_(x= 2975 83, 0=1.63)
— Residual*s

w | Trace

il lFﬁ'f

—!

pfsArm
= (x=2974.12, 0=1.93)

|

calExp
= (x=2974.12, 0=178)
— Residual*s
w | Trace

Y=1228 (dx=5.0e-03, do=-2.2e-01)

Y=1473 (dx=8.4e-02, do=-2.7e-01)

pfsArm
= (x=2973.49, 0=1.94)

I

i1

calExp

| = (x=2973.50, 0=1.72)
= Residual*5

= Trace

calExp
~ = (x=2973.72, 0=1.67)

i r.T__f_qu.

pfsArm
= (x=2973.63, 0=1.94)

|
I
= Residual*5 I
|
|
1

i Trace

Y=2210 (dx=-4.6e-01, do=-2.0e-01)

Y=2456 (dx=2.4e-01, do=-4.5e-01)

T pfsArm
= (x=2972.80, 0=2.00)
calExp
= (x=2972.34, 0=1.80)
== Residual*s
- - Trace
- -

— pfsArm

7| == Residual*5

T
= (x=2974.15, 0=1.99) 1
calEx I

1

p
= (x=2974.39, 0=1.54)

= Trace

Y=3193 (dx=-3.2e-02, do=-4.7e-01)

Y=3439 (dx=-2.8e-02, do=-2.4e-01)

pfsArm
| = (x=2976.13, 0=2.08)

calExp
= (x=2976.10, 0=1.61)
e Residual*5
= Trace

I

-4-¥h*---

pfsArm
— = (x=2976.61, 0=1.81) 1

calExp
- (x= 2976 58, 0=1.56)

= Residual*5
= Trace

m P

2960 2970 2980

2990 2960 2970 2980 2990

Y=736 (dx=1.9e-01, do=-1.9e-01)

pfsArm
= (x=2972.66, 0=1.72)
calExp
— (x=2972.85, 0=1.53)
— Residual*s
== Trace

m

pfsArm
| = (x=2973.26, 0=1.99)

Y=1719 (dx=-2.6e-01, do=-1.9e-01)

pfsArm
1= (x 2973.22, 0=1.96)

— (x=2972.95‘ 0=177)
= Residual*5
== Trace

= -

=] === Residual*5

Y=2702 (dx=-5.1e-02, do=-2.1e-01)

pfsArm

= (x=2973.55, 0=1.64)
calEx

= (x=2973.50, 0=1.43)

e Residual*5

== Trace

Y=3684 (dx=4.7e-02, do=-9.4e-02)

l

pfsArm
—(x=2977.91, 0=2.14)

calExp
™ (x=2977.96, 0=2.04)
e Residual*5
= Trace

_|J

Y=982 (dx=-1.4e-01, do=-3.1e-01)

T

|

calExp 1
= (x=2973.12, 0=1.68)

m— Residual*s 1

|

1

== Trace

Y=1965 (dx=-8.3e-02, do=-1.5e-01)

1
Y=2947 (dx=4.0e-01, do=-5.3e-01)

pfsArm
= (x=2973.19, 0=2.03)

calExp
= (x=2973.10, 0=1.88)

= Trace

{ B ._ lﬂ_ .

2970 2980 2990

I pfsArm
| [= x=2974.87, 0=2.00)
1 calEx
= (x=2975.27, 0=1.47)
I m— Residual*5
1 = Trace
=
1
1 Ai - L=
T T 1 T T
Y=3930 (dx=2.8e-01, do=-1.0e-01)
pfsArm T
= (x=2978.52, 0=2.11) 1
calExp
— (x=2978.79, 0=2.01) =

e Residual*s
= Trace

i

2970 2980 2990
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Y=245 (dx=8.7e-03, do=1.6e-02)

f=175, X=2949.3

Y=491 (dx=-6.8e-03, do=-1.5e-02)

T pfsArm
1 = (x=2949.09, 0=124)

1 calExp
= (x=2949.10, 0=1.26)

w— Residual*5
= Trace

T pfsArm
| ™ x=2948.31,0=124)

1 calExp
= (x=2948.30, 0=123)

m— Residual*5
== Trace

Y=736 (dx=3.1e-02, do=-1.2e-02)

Y=1228 (dx=5.5e-02, do=-2.7e-02)

Y=1473 (dx=4.4e-02, do=-4.1e-03)

T pfsArm
| = (x=2947.74,0=124)
1 calExp
— (x=2947.77, 0=123)
—Residual*s
== Trace

Y=1719 (dx=9.7e-02, do=1.9e-03)

pfsArm
| =™ (x=2947.28, 0=123)

1 calExp
= (x=2947.34, 0=120)

w—— Residual*5

= Trace

pfsArm
| ™ (x=2947.27,0=122)
calExp
= (x=2947.31, 0=121)
m— Residual*5
= Trace

1
Y=2210 (dx=7.8e-02, do=-1.5€-03)

Y=2456 (dx=7.2e-02, do=-2.0e-02)

pfsArm
| = (x=2947.37,0=120)

calExp
—(x=2947.47, 0=1.21)
e Residual*5

== Trace

I pfsArm pfsArm

| = (x=2947.89, 0=1.18) | ™ (x=2948.34,0=1.18)

1 calExp 1 calExp
m—(x=2947.97, 0=1.18) m—(x=2948.41, 0=1.16)

m— Residual*5
= Trace

m—— Residual*5
w— Trace

Y=2702 (dx=5.9e-02, do=9.0e-05)

I pfsArm
| ™ (x=2948.85 0=1.19)
1 calExp

= (x=2948.91, 0=1.19)

m——Residual*5
== Trace

1 1
Y=3193 (dx=7.2e-02, do=-1.2¢-02) Y=3439 (dx=5.8e-02, do=-1.6e-02) Y=3684 (dx=6.2e-02, do=-1.3e-02)
pfsArm pfsArm T pfsArm
1 = (x=2950.35, 0=1.16) 1 = (x=2951.34, 0=1.17) | = x=2952.52,0=1.17)
| - (cxalezxgsoAz,a:l 15) | = (CSI:E;;nAo, 0=1.15) I = (cflezgpsz.ss, 0=1.15)

e Residual*5
| Trace

m— Residual*5
= Trace

2940 2950 2960

2940 2950 2960

m— Residual*5
== Trace

2940 2950 2960

Y=982 (dx=4.0e-02, do=-1.4e-02)

T pfsArm
| ™ (x=2947.44,0=123)

1 calExp
= (x=2947.48, 0=121)

- = Residual*5
== Trace

Y=1965 (dx=7.0e-02, do=-2.0e-02)

- I pfsArm
| ™ (x=2947.58,0=120)

1 calExp
= (x=2947.65, 0=1.18)

m——Residual*5
= Trace

1

Y=2947 (dx=8.5e-02, do=-2.5€-02)
I pfsArm
| ™ (x=2949.53,0=1.17)
1 e (cf‘:E;;AQ,sl, 0=1.15)

m——Residual*5
== Trace

Y=3930 (dx=5.2e-02, do=2.2e-02)

pfsArm
1 = (x=2953.98, 0=1.16)
| calExp

= (x=2954.03, 0=1.18)

m— Residual*5

- == Trace

2940 2950 2960 2970
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Y=245 (dx=5.1e-02, do=-2.2e-04)

f=187, X=2875.2

Y=491 (dx=4.9e-02, do=-2.8e-02)

T pfsArm T pfsArm
| = (x=2874.61,0=127) 1 = (x=2874.01, 0=1.25)

- 1 calExp 1 calExp
= (x=2874.06, 0=1.22)

= (x=2874.66, 0=1.27)
s Residual*5
= Trace

m— Residual*5
== Trace

Y=1228 (dx=1.2e-01, do=-5.7e-02)

Y=1473 (dx=9.7e-02, do=-3.6e-02)

pfsArm
| =™ (x=2873.16,0=124)
1 calExp
— (x=2873.27, 0=1.18)
w—— Residual*5
= Trace

- 1 calExp
= (x=2873.27, 0=1.19)

pfsArm
| ™ (x=2873.17,0=123)

m—— Residual*5

Y=736 (dx=5.7e-02, do=-7.9e-03)

T pfsArm
| ™ (x=2873.49, 0=127)
1 calExp

= (x=2873.55, 0=1.26)
—Residual*s
== Trace

Y=1719 (dx=9.2e-02, do=-1.3e-02)

Y=2210 (dx=9.3e-02, do=-8.0e-03)

Y=2456 (dx=1.0e-01, do=-1.9e-02)

T pfsArm N pfsArm

1 1 = (x=2873.87, 0=1.18) | ™ (x=287425,0=1.19)
1 calExp 1 calExp

m—(x=2874.35, 0=1.17)

m—(x=2873.96, 0=1.17)
m—— Residual*5
w— Trace

m— Residual*5

T I pfsArm
| ™ (x=2874.70, 0=124)

1 calExp
= (x=2874.79, 0=121)

Y=3193 (dx=4.8e-02, do=-1.7e-02)

Y=3439 (dx=4.0e-02, do=-2.6e-02)

pfsArm
| = (x=2876.15,0=1.17)

| calExp
= (x=2876.20, 0=1.16)
w— Residual*5

pfsArm
1 = (x=2877.07, 0=1.18)

| calExp
(x=2877.11, 0=1.15)
m— Residual*5
= Trace

pfsArm
| = (x=287329,0=122)

calExp
= (x=2873.38, 0=121)
e Residual*5
== Trace

Y=2702 (dx=8.6e-02, do=-2.5e-02)

m——Residual*5
== Trace

Y=3684 (dx=7.5e-02, do=-6.1e-02)

pfsArm
| ™ (x=2878.17,0=117)

| calExp
= (x=2878.24, 0=1.11)
m—Residual*5

2860 2870 2880 2890

2870 2880 2890

2870 2880 2890

Y=982 (dx=8.0e-02, do=-4.7e-02)
T

pfsArm
| ™ (x=2873.26,0=125)

N 1 calExp
= (x=2873.34, 0=120)

= Residual*5

== Trace

1
Y=1965 (dx=9.1e-02, do=-2.3e-02)

I fsArm
T | ™ (x=2873.50,0=123)

1 calExp
= (x=2873.59, 0=1.20)
m—Residual*5
== Trace

Y=2947 (dx=7.1e-02, do=-1.6e-02)

I pfsArm
| ™ (x=287537,0=119)
1 calExp

m—(x=2875.44, 0=1.17)
m——Residual*5
1 == Trace

1
Y=3930 (dx=1.5e-02, do=-1.5e-02)

T pfsArm
| = (x=2879.47, 0=1.18)

| calExp
= (x=2879.49, 0=1.17)
m—Residual*5
- Trace

2870 2880 2890
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Y=245 (dx=2.7e-02, do=-2.7e-03)

f=194, X=2832.1

Y=491 (dx=2.8e-02, do=-4.6e-03)

Y=736 (dx=6.8e-02, do=-4.4e-02)

= (x=2831.52, 0=1.22)
w— Residual*5

pfsArm pfsArm
| = (x=2831.49,0=122) | = (x=283084,0=124)
1 calExp 1 calExp
= (x=2830.87, 0=1.23)

m— Residual*5
== Trace

T pfsArm
| ™ (x=2830.47,0=123)

calExp
= (x=2830.54, 0=1.19)

m—— Residual*5

Y=982 (dx=7.7e-02, do=-5.1e-02)

T pfsArm
| ™ (x=283025,0=124)
1 calExp

= (x=2830.33, 0=1.19)

= Residual*5
== Trace

Y=1719 (dx=1.2e-01, do=-4.7e-02)

Y=1965 (dx=1.2e-01, do=-3.7e-02)

1 calExp
— (x=2830.25, 0=1.17)
w—— Residual*5

1
Y=1228 (dx=7.6e-02, do=-5.8e-02) Y=1473 (dx=9.0e-02, do=-3.6e-02)
I pfsArm I pfsArm
1 — (x=2830.17, 0=1.23) 1 = (x=2830.20, 0=1.22)

1 calExp
= (x=2830.29, 0=1.18)
m— Residual*5

pfsArm
| ™ (x=283033,0=121)
calExp
= (x=2830.45, 0=1.16)
e Residual*5
= Trace

pfsArm
| = (x=2830.55, 0=120)
calExp
= (x=2830.67, 0=1.16)
m—Residual*5
= Trace

Y=2210 (dx=9.4e-02, do=-3.5€-03)

Y=2456 (dx=1.3e-01, do=-2.1e-02)

Y=2702 (dx=1.1e-01, do=-3.7e-02)

Y=2947 (dx=8.4e-02, do=-1.0e-02)

m—— Residual*5

pfsArm pfsArm
| = (x=2830.85,0=1.18) | ™ (x=283129,0=1.18)
1 calExp N 1 calExp
m—(x=2830.95, 0=1.18) m—(x=2831.42, 0=1.16)

m— Residual*5
= Trace

pfsArm

| ™ (x=2831750=118)
1 calExp

m—(x=2831.87, 0=1.14)

m——Residual*5
== Trace

pfsArm
| =™ (x=2832.38,0=1.17)
1 calExp

= (x=2832.46, 0=1.16)

e Residual*5

- Trace

Y=3193 (dx=9.9¢-02, do=-3.3e-02)

Y=3439 (dx=7.9e-02, do=-4.3e-02)

Y=3930 (dx=2.5e-02, do=-1.5e-02)

e Residual*5
| Trace

T pfsArm T pfsArm
1 = (x=2833.12, 0=1.16) -1 1 = (x=2834.01, 0=1.17)
calExp | calExp
= (x=2833.22, 0=1.13) = (x=2834.09, 0=1.12)

m— Residual*5

1
Y=3684 (dx=4.5e-02, do=-2.3e-04)
T pfsArm
1 m—(x=2835.06, 0=1.16)
| — (cflezxspzs.m, 0=1.16)

m— Residual*5
== Trace

pfsArm
= (x=2836.31, 0=1.16)

calExp
= (x=2836.34, 0=1.15)
m—Residual*5
- Trace
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f=222, X=2659.4

Y=491 (dx=-2.8e-01, do=-2.6e-01)

Y=736 (dx=-1.8e-01, do=-2.0e-01)

pfsArm
= (x=2656.46, 0=1.94)

calExp
= (x=2656.18, 0=1.78)

Y=245 (dx=-2.9e-01, do=-1.5e-01)
= Residual*5

[l

pfsArm
= (x=2657.24, 0=1.91)
calExp
= (x=2656.96, 0=1.65)
e Residual*5
== Trace

pfsArm
= (x=2655.02, 0=1.73)

calExp
= (x=2654.84, 0=1.53)

e Residual*5

1
I
I
l w Trace
1
1
1

Y=1228 (dx=-2.1e-01, do=-2.8e-01)

Y=1473 (dx=-1.1e-01, do=-1.2e-01)

x=2.8e-01, do=1.7e-01)

pfsArm
= (x=2654.75, 0=1.52)

calExp
— (x=2654.54, 0=1.24)
= Residual*5

= Trace

AL

pfsArm
= (x=2654.82, 0=1.56)
calExp
— (x=2654.71, 0=1.44)
= Residual*5
= Trace

pfsArm
= (x=2656.77, 0=1.77)

calExp
= (x=2657.05, 0=1.94)

e Residual*5
= Trace

Y=2210 (dx=-4.9e-01, do=-3.6€-01)

Y=2456 (dx=1.5e-01, do=-1.5€-01)

Y=2702 (dx=5.6e-02, do=4.8e-02)

pfsArm
= (x=2656.59, 0=2.08)

calExp
m—(x=2656.09, 0=1.72)
e Residual*5

w— Trace

il

3?_

pfsArm
= (x=2657.87, 0=1.86)

calExp
= (x=2658.02, 0=172)

= Residual*5
= Trace

pfsArm T
= (x=2659.01, 0=1.58) 1
calExp 1

= (x=2659.07, 0=1.63)
e Residual*5
= Trace

Y=3439 (dx=3.4e-01, do=-8.1e-06)

Y=3684 (dx=6.6e-01, do=1.2e-01)

Y=3193 (dx=-1.3e-01, do=-4.8e-02)
pfsArm
= (x=2658.14, 0=1.65)
calExp
= (x=2658.00, 0=1.61)

X

t e Residual*5
| Trace

. —— e ——

il

pfsArm
= (x=2660.53, 0=1.63)

calExp
= (x=2660.87,0=1.63)
e Residual*5
= Trace

It

F

o e by e

T pfsArm
1 = (x=2660.90, 0=1.77)
| calExp

— (x=2661.56, 0=1.89)
I = Residual*5
- Trace

2650 2660 2670

2650 2660 2670

2650 2660 2670

Y=982 (dx=-1.4e-01, do=-1.2e-01)

pfsArm
= (x=2654.85, 0=1.61)

calExp
= (x=2654.71, 0=1.48)
— Residual*s
== Trace

1
Y=1965 (dx=-2.6e-01, do=-1.5€-01)

I pfsArm
| ™ (x=2656.74,0=1.99)
1 calExp

= (x=2656.48, 0=1.84)
I e Residual*5
|
|
|

w= Trace

1
Y=2947 (dx=-1.2e-01, do=-6.8e-02)

pfsArm
= (x=2656.73, 0=1.53)

calExp
= (x=2656.61, 0=1.46)

e Residual*5

T
1
1
|
| = Tace
1
1
1

o -m':n-ma-ﬂv-

Y=3930 (dx=2.9e-01, do=1.6e-01)

pfsArm
= (x=2662.00, 0=1.73)

calExp
= (x=2662.29, 0=1.89)
e Residual*5
== Trace

2650 2660 2670
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Y=245 (dx=4.1e-02, do=8.0e-03)

f=223, X=2653.2

Y=491 (dx=4.7e-02, do=-1.8e-02)

pfsArm
| ™ (x=265225,0=123)

1 calExp
= (x=2652.30, 0=1.23)

w— Residual*5
= Trace

T pfsArm
| ™ (x=2651.82,0=123)

1 calExp
= (x=2651.87, 0=121)

m— Residual*5
== Trace

Y=1228 (dx=9.2e-02, do=-3.2e-02)

Y=1473 (dx=8.9e-02, do=-2.4e-02)

pfsArm
| =™ (x=2651.54, 0=123)
calExp
= (x=2651.63, 0=1.19)
w—— Residual*5
= Trace

T fSArm
| ™ (x=265164,0=122)
1 calExp
= (x=2651.73, 0=1.19)
m— Residual*5
= Trace

m—(x=2652.49, 0=1.16)
m—— Residual*5
w— Trace

1
Y=2210 (dx=8.7e-02, do=-1.2e-02) Y=2456 (dx=9.2e-02, do=-3.2e-02)
I pfsArm I pfsArm
| ™ (x=2652.40,0=1.18) | ™ (x=265276,0=118)
I e, — ((:I=E2x6p_’:2 85, 0=1.15)

m— Residual*5
= Trace

Y=736 (dx=6.9e-02, do=-2.6e-02)

Y=982 (dx=7.2e-02, do=-2.5e-02)

T pfsArm
| ™ (x=265161,0=124)

1 calExp
= (x=2651.68, 0=121)

- m—— Residual*5
== Trace

T pfsArm
| ™ (x=2651.52,0=123)

1 calExp
= (x=2651.60, 0=121)

= Residual*5
== Trace

1
Y=1719 (dx=8.5e-02, do=-2.4e-02)

Y=1965 (dx=8.0e-02, do=-1.2e-02)

T T fsArm T pfsArm
| = (x=2651.81,0=121) 1 = (x=2652.10, 0=1.19)
1 calExp 1 calExp
. = (x=2651.90, 0=1.18) = (x=2652.18, 0=1.17)
e Residual*5 m—Residual*5
== Trace == Trace
. i~
T T 1 T T T 1 T
Y=2702 (dx=8.6e-02, do=-1.3e-02) Y=2947 (dx=9.5e-02, do=-3.6e-02)
N I pfsArm I pfsArm
1 = (x=2653.23, 0=1.17) | ™ (x=265372,0=117)
1 calExp 1 calExp
= (x=2653.31, 0=1.16) = (x=2653.82, 0=1.13)

m——Residual*5

Y=3193 (dx=8.2e-02, do=-2.1e-02)

Y=3439 (dx=6.1e-02, do=-3.4e-02)

pfsArm
| ™ (x=2654.35 0=116)

calExp
= (x=2654.43, 0=1.14)
w— Residual*5
= Trace

pfsArm
1 = (x=2655.09, 0=1.16)

calExp

(x=2655.15, 0=1.12)
m— Residual*5
= Trace

2640 2650 2660

2670 2640 2650 2660 2670

m——Residual*5
== Trace

Y=3684 (dx=8.9e-02, do=-4.7e-02)

1
Y=3930 (dx=7.0e-02, do=-4.1e-02)

T pfsArm
- | ™ (x=2655.91, 0=1.16)

| calExp

= (x=2656.00, 0=1.11)
m— Residual*5

= Trace

T pfsArm
| ™ (x=2656.93, 0=1.16)

| calExp

(x=2657.00, 0=1.12)
m— Residual*5
== Trace

2640 2650 2660
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Y=245 (dx=1.8e-01, do=-3.3e-01)

=224, X=2647.1

Y=491 (dx=1.0e-01, do=-2.6e-01)

pfsArm T L pfsArm T
— = (x=2647.45, 0=1.99) 1 — = (x=2645.86, 0=1.89) 1
alExp 1 calExp 1
e (x 2647, 63, 0=1.66) = (x=2645.96, 0=1.63)
s Residual*s 1 s Residual*s 1
= Trace l = Trace l
- 1 -
| |
1
i LL_H=E i 0__1tL
q 1
T T L T I T T 1 T
Y=1228 (dx=7.6e-01, do=-1.0e+00) Y=1473 (dx=-2.0e-02, do=-1.6e-01
pfsArm pfsArm I
= (x=2646.13, 0=2.17) 1 _| = (x=2646.13, 0=2.07) 1
calExp 1 calExp 1
- = (x=2646.89, 0=1.16) = (x=2646.11, 0=1.91)
= Residual*5 I e Residual*5 I
- Trace 1 - Trace

4;{

1
Y=2210 (dx=8.0e-01, do=-5.5e-01)

Y=2456 (dx=-6.4e-01, do=2.5e-01)

pfsArm T pfsArm T
- = (x=2646.64, 0=2.34) 1 = (x=2647.73, 0=1.65) 1
calExp 1 calExp 1

= (x=2647.43, 0=1.79) | = (x=2647.09, 0=1.89)
= Residual*5 I = Residual*5 I
- Trace - Trace ]

]
-+ -
=

:i,f

1

Y=3439 (dx—-2 6e-01, 'do=-1.3e- 02

E pfsArm T T pfsArm
= (x=2649.97, 0=1.45) 1 I = x=2649.10, 0=1.45)
calExp | calExp
= (x=2649.53, 0=1.70) = (x=2648.84, 0=1.44)
7| = Residual*5 I - mm—_ Residual*5
- Trace 1 - Trace

7| == Residual*s

2640 2650 2660

2640 2650 2660

Y=736 (dx=3.6e-01, do=-4.5e-01)

pfsArm T =
= (x=2645.96, 0=1.99) 1
calExp 1
= (x=2646.32, 0=1.54)
m— Residual*s 1
= Trace l

Y=1719 (dx=-2.6e-01, do=6.7e-02)

pfsArm
— (x 2646.64, 0=1.62)

— (x=264s,38, 0=1.68)
= Residual*5
== Trace

pfsArm
1 = (x=2647.39, 0=1.50)

calExp

(x=2647.33, 0=1.41)
e Residual*5
= Trace

pfsArm

= (x=2650.65, 0=1.44)
calExp

= (x=2649.55, 0=1.72)

== Trace

2640 2650 2660

Y=982 (dx=5.0e-02, do=-1.7e-01)

pfsArm T
= (x=2646.25, 0=2.14)

calExp
- (x= 2646 30, 0=1.96)
7| == Residual*s

== Trace

Y=1965 (dx=-1.3e-01, do=-

,_.
)
®

o
o

)

pfsArm
= (x=2647.67, 0=1.80)
calExp
— (x=2647.54, 0=1.79)
= Residual*5
= Trace

Y=2947 (dx=-3.5e-01, do=5.9e-02)

pfsArm
= (x=2648.24, 0=1.91)

calExp
m—(x=2647.89, 0=1.97)
e Residual*s

= Trace

)

L

pfsArm
— (x=2651.71, 0=1.42)

calExp
= = (x=2650.45, 0=1.81)
e Residual*s
w Trace

el =

2640 2650 2660
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Y=245 (dx=7.9e-03, do=-6.9e-03)

f=243, X=2529.9

Y=491 (dx=5.4e-02, do=-1.4e-02)

Y=736 (dx=7.4e-02, do=4.4e-03)

Y=982 (dx=9.3e-02, do=1.5e-02)

T pfsArm
| ™ (x=2528.64,0=126)

1 calExp
= (x=2528.65, 0=1.25)

e Residual*s
= Trace

T pfsArm
| ™ (x=2528.41,0=126)

1 calExp
= (x=2528.46, 0=1.25)

e Residual*5

pfsArm
| =™ (x=252832,0=124)
1 calExp
— (x=2528.39, 0=1.24)

= Residual*5
== Trace

T pfsArm
| ™ (x=252831,0=124)
1 calExp
= (x=2528.40, 0=1.25)
m—_Residual*5
== Trace

Y=1228 (dx=1.0e-01, do=-2.0e-02)

Y=1473 (dx=3.0e-02, do=5.6e-03)

Y=1719 (dx=1.1e-01, do=-1.2€-02)

Y=1965 (dx=1.0e-01, do=-4.9e-03)

pfsArm
| ™ (x=2528.38,0=123)

calExp
— (x=2528.49, 0=1.21)
= Residual*5

= Trace

pfsArm
| ™ (x=252852,0=124)
1 calExp
— (x=2528.55, 0=1.24)
= Residual*5
= Trace

I pfsArm
| =™ (x=252872,0=123)
1 calExp

— (x=2528.83, 0=1.22)

e Residual*5
= Trace

I pfsArm

1 = (x=2529.03, 0=1.20)

1 calExp
—(x=2529.13, 0=1.19)
e Residual*5
= Trace

T
1

Y=2210 (dx=1.1e-01, do=-9.6€-03)

Y=2456 (dx=1.1e-01, do=-1.4e-02)

Y=2702 (dx=1.1e-01, do=-1.7e-02)

Y=2947 (dx=9.6e-02, do=-6.5€-03)

pfsArm pfsArm
1 = (x=2529.33, 0=1.20) | = x=2529.66, 0=121)
1 calExp 1 calExp

—(x=2529.44, 0=1.19)
e Residual*5
w— Trace

m—(x=2529.78, 0=1.19)
e Residual*5
= Trace

pfsArm

1 = (x=2530.11, 0=1.20)
1 calExp

= (x=2530.22, 0=1.19)

e Residual*s

pfsArm
| ™ (x=2530.55,0=1.18)
1 calExp

= (x=2530.64, 0=1.18)
e Residual*5
== Trace

Y=3930 (dx=6.1e-02, do=8.0e-04)

1
Y=3193 (dx=6.6e-02, do=-1.1e-02) Y=3439 (dx=8.3e-02, do=-7.2e-03)
T pfsArm T pfsArm
1 = (x=2531.11, 0=1.17) | ™ (x=2531.69, 0=120)
I r— (CEI:EZXSP31.18, 0=1.16) — (c:I:EZXSP3l 78, 0=1.19)

e Residual*5
| Trace

e Residual*5
= Trace

pfsArm
= (x=2532.46, 0=1.16)

calExp
= (x=2532.57, 0=1.17)
e Residual*s
= Trace

1

pfsArm
| =™ (x=2533.33,0=117)

| calExp

(x=2533.39, 0=1.17)
e Residual*5
== Trace
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Y=245 (dx=7.5e-01, do=5.3e-02)

f=344, X=1977.0

Y=491 (dx=2.5e-01, do=-9.1e-03)

Y=736 (dx=4.9e-01, do=-6.2e-01)

_(x= 1973 18, 0=1.85)
— Residual*s
= Trace

pfsArm pfsArm T
= (x=1972.42, 0=1.80) = (x=1974.00, 0=1.42) 1
calExp calExp 1

= (x=1974.26, 0=1.42)
— Residual*s
== Trace

H

4= lx=1973,87‘ 0=123)

IR

— (x 1973 38, 0=1.85)

e Residual*5
= Trace

-4

Y=1473 (dx=6.8e-01, do=2.4e-01)

Y=1719 (dx=1.4e+00, do=2.9e-02)

Y=1228 (dx=1.1e+00, do=-9.9e-03)

pfsArm
== (x=1974.34, 0=1.85)

calExp
= (x=1975.49, 0=1.84)

me Residual*5
= Trace

L

11

]IIL- ! u
pfsArm 1
= (x=1975.31, 0=1.77) J'

calExp
= (x=1975.99, 0=2.01)
m— Residual*s ™
= Trace =~
] LT

- - - -

pfsArm s
= (x=197521, 0=1.84)
calExp
m—(x=1976.57, 0=1.87)
e Residual*5
= Trace
-44-- .I —H-2

Y=2702 (dx=1.2e-01, do=-8.8e-02)

T T T T T
Y=2210 (dx=1.3e+00, do=6.1e-03) Y=2456 (dx=6.7e-01, do=5.9e-02)
L I pfsArm pfsArm TS
= (x=1976.23, 0=1.76) = (x=1976.59, 0=1.89) I
calExp. calExp
m—(x=1977.52, 0=1.77) m—(x=1977.26, 0=1.95)
e Residual*5 e Residual*5
- w1 Trace = = Trace
1 |

pfsArm
= (x=1978.00, 0=1.46)

calExp
= (x=1978.12, 0=1.37)
e Residual*s
== Trace

[Ty

Y=3193 (dx=6.0e-01, do=1.7e-01)

Y=3684 (dx=1.9e+00, do=nan)

-1 e Residual*5
w— | Trace

7| == Residual*s

pfsArm — pfsArm T

= (x=1977.15, 0=1.92) = (x=1978.92, 0=1.51) 1

] calExp calEx| |
= (x=1977.75, 0=2.09)

_(x= 1979 27, 0=1.39)

= Trace

pfsArm

(x=1978.24, 0=1.80)

calExp
=== (x=1980.15, o=nan)

u =
e Residual*5 -
== Trace

=

b et - f—

1970 1980 1990

1970 1980 1990

111

1970 1980

Y=982 (dx=-1.9e-01, do=-4.1e-01)

pfsArm
= (x=1974.56, 0=1.70)
calExp
= (x=1974.37, 0=129)
— Residual*s
== Trace

Y=1965 (dx=1.0e+00, do=1.0e-01)

(I

— (x 1976 26, 0=1.74)

caIExp

= (x=1977.29, 0=1.84)
e Residual*5
= Trace

T

Exp
r— (x=1981 57, o=nan)
e Residual*s

1
Y=2947 (dx=4.5e+00, do=nan)
— Trace

9] uq
4

= (x 1977 08, 0=1.81)
Y=3930 (dx=4.9e-01, do=-1.5e-01)

| a I- 1
pfsArm j
= (x=1978.84, 0=1.81)
N calExp 11 1 -
- (x=1979.32, 0=1.66) 1
= Residual*5
= Trace u —
- .H_H_ L ML Al
n 1
T T
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Y=245 (dx=-2.8e-01, do=-2.4e-01)

f=345, X=1970.9

Y=491 (dx=-1.0e-01, do=-2.0e-02)

pfsArm
= (x=1965.31, 0=1.92)

calExp
= (x=1965.03, 0=1.68)

e Residual*s
= Trace

e

T pfsArm
(x=1965.83, 0=2.06)

calExp
- (x=1965.73, 0=2.04)

e Residual*5
== Trace

Y=1228 (dx=-1.5e-01, do=-3.4€-01)

Y=1473 (dx=8.4e-02, do=-1.3e-01)

pfsArm
(x=1967.03, 0=1.77)

calExp
= (x=1966.88, 0=1.43)
= Residual*5

= Trace

B!

T pfsArm
1 = (x=1969.01, 0=2.04)
1 calExp

= (x=1969.09, 0=1.91)
I e Residual*5
|
| L
|

w— Trace

y

Y=2210 (dx=-8.1e-02, do=-1.7e-01)

Y=2456 (dx=-4.2e-02, do=-9.2e-03)

pfsArm
= (x=1969.55, 0=2.02)

T
|
1 calExp
= (x=1969.46, 0=1.85)
I e Residual*5
|
|
|

= Trace

pfsArm
= (x=1969.04, 0=1.75)

T

|

I calExp

I (x=1969.00, 0=1.74)
e Residual*5

|

|

|

1

== Trace

1 1
T T T T T
Y=3193 (dx=-1.7e-01, do=-1.8e-01) Y=3439 (dx=-4.6e-01, do=-5.3e-01)
T pfsArm pfsArm T
I = (x=1970.09, 0=178) = (x=1972.39, 0=1.98) 1
| calExp calExp |
= (x=1969.92, 0=1.60) = (x=1971.93, 0=1.45)
I = Residual*5 = Residual*5
] 1 - Trace | - Trace
|
1 -
F 1 1
1

TP W~ O

1960 1970 1980

1960 1970 1980

Y=736 (dx=-2.2e-01, do=-2.8e-01)

pfsArm
= (x=1966.21, 0=1.86)

calExp
= (x=1965.99, 0=1.58)
m— Residual*s
== Trace

nr}

Y=1719 (dx=-6.3e-02, do=-6.6e-02)

pfsArm
= (x=1968.45, 0=1.94)
calExp
= (x=1968.38, 0=1.87)
= Residual*5
= Trace

Y=2702 (dx=1.2e-01, do=-1.3e-01)

pfsArm
= (x=1971.63, 0=176)

calExp
m—(x=1971.76, 0=1.63)
e Residual*s

== Trace

/

Y=3684 (dx=-1.7e-01, do=-2.1e-01)

pfsArm
= (x=1971.73, 0=2.03)

calExp
= (x=1971.56, 0=1.82)
= Residual*5
- Trace

I.I

a

1 n

1960 1970 1980

Y=982 (dx=5.6e-02, do=-8.8e-02)

pfsArm
= (x=1967.85, 0=2.02)

calExp
= (x=1967.91, 0=1.94)
e Residual*5
== Trace

1
Y=1965 (dx=-1.7e-01, do=-1.8e-01)

pfsArm
= (x=1967.94, 0=1.67)
calExp
— (x=1967.77, 0=1.49)
e Residual*5
= Trace

1
Y=2947 (dx=-1.4e-01, do=-2.2e-01)

pfsArm
= (x=1970.57, 0=1.98)

calExp
m—(x=1970.43, 0=1.76)
e Residual*5

== Trace

(dx=-1.7e-01, do=-2.9e-01)

=<
I
w
[(e 8
w
o

pfsArm
= (x=1971.64, 0=1.98)

calExp
= (x=1971.47, 0=1.69)
m—Residual*s

T
1
|
|
1 - Trace
1
1
1
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Y=245 (dx=6.1e-02, do=-1.8e-02)

f=346, X=1964.7

Y=491 (dx=1.9e-02, do=-2.2e-03)

Y=736 (dx=2.8e-02, do=-3.2e-02)

Y=982 (dx=3.9e-02, do=-4.7e-02)

pfsArm
1 = (x=1961.18, 0=123)
_ 1 calExp
= (x=1961.24, 0=121)
s Residual*5
= Trace

T T pfsArm
| ™ (x=1961.72, 0=123)

1 calExp
= (x=1961.74, 0=1.23)

m— Residual*5
== Trace

T pfsArm
| ™ (x=1962.31,0=123)
1 calExp
= (x=1962.33, 0=1.19)
—Residual*s
== Trace

T pfsArm
| ™ (x=196279, 0=122)
1 calExp

- (x=1962.83, 0=1.17)
— Residual*s
== Trace

Y=1228 (dx=3.0e-02, do=-5.0e-02)

Y=1473 (dx=7.5e-02, do=-4.9e-02)

Y=1719 (dx=7.7e-02, do=-3.7e-02)

pfsArm
. | =™ (x=1963.32 0=122)

calExp
- (x=1963.35, 0=1.17)
w—— Residual*5

= Trace

pfsArm
| ™ (x=1963.77,0=121)
calExp
= (x=1963.84, 0=1.16)
m— Residual*5
= Trace

pfsArm
| ™ (x=196425,0=121)
calExp
= (x=1964.33, 0=1.17)
e Residual*5
= Trace

1
T T 1 T
Y=1965 (dx=6.3e-02, do=-2.3e-02)
I fsArm
| ™ (x=1964.67, 0=120)
1 — (?‘:?9"64473,0:1413)

m——Residual*5
= Trace

Y=2210 (dx=1.2e-02, do=-2.5e-02)

Y=2456 (dx=6.9e-02, do=-3.1e-02)

1
Y=2947 (dx=4.0e-02, do=-3.8e-02)

m—(x=1965.12, 0=1.16)
m—— Residual*5
w— Trace

I pfsArm I pfsArm
1 = (x=1965.11, 0=1.19) . | ™ (x=1965.48 0=1.19)

- 1 calExp calExp
= (x=1965.55, 0=1.16)

m— Residual*5
= Trace

1

Y=2702 (dx=5.4e-02, do=-3.6e-02)
I pfsArm
| ™ (x=1965.84, 0=1.19)
I — (c:flxgpﬁS.BQ. 0=1.15)

m——Residual*5
== Trace

pfsArm

1 = (x=1966.23, 0=1.17)
1 calExp

- (x=1966.27, 0=1.13)

m——Residual*5
== Trace

1
Y=3193 (dx=9.9e-02, do=-3.2e-02)

1
Y=3439 (dx=1.2e-01, do=-6.3e-02)

Y=3930 (dx=4.8e-02, do=-4.3e-02)

T pfsArm
| = (x=1966.56, 0=1.17)

| calExp

= (x=1966.66, 0=1.14)
w— Residual*5
. = Trace

T pfsArm
| ™ (x=1966.85, 0=1.17)

| calExp

(x=1966.97, 0=1.11)
m— Residual*5
= Trace

1
Y=3684 (dx=4.6e-02, do=-4.1e-02)
T pfsArm
1 —(x=1967.16, 0=1.17)
| — (cflelxgpm.zo, 0=1.12)

m— Residual*5
== Trace

pfsArm
| ™ (x=1967.38,0=1.17)

| calExp

= (x=1967.43, 0=1.13)
m—Residual*5
- Trace
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f=347, X=1958.5

Y=491 (dx=-9.9e-02, do=-1.4e-01)

pfsArm
(x=1956.74, 0=1.94)

calExp
= (x=1953.45, 0=2.15)

Y=245 (dx=-3.3e+00, do=2.1e-01)
e Residual*5

T (x 1955 69, 0=1.71)

T (x=1955,59, 0=1.57)
== Residual*5
== Trace

- ™ (x=1958.01, 0=1.45)

Y=1228 (dx=2.8e-01, do=-5.0e-01)

i

- pfsArm

= (x=1958.32, 0=2.16)
calExp

= (x=1958.60, 0=1.66)

= Residual*5

= Trace

i T=-Ft-
1

-4 x= 1953 06, 0=1.75)

pfsArm
= (x=1958.05, 0=2.07)
calEx

= Residual*5
= Trace

f

Y=2210 (dx=-3.3e-02, do=-1.0e-01)

Y=2456 (dx=3.6e-02, do=-3.1e-01)

pfsArm

= (x=1959.03, 0=1.92)
calExp

= (x=1958.99, 0=1.82)

= Residual*5

w= | Trace

pfsArm
= (x=1960.04, 0=2.11)

calExp
= (x=1960.07, 0=1.80)
e Residual*5

w— Trace

l

Y=3193 (dx=-4.4e-01, do=-1.3e-01)

Y=3439 (dx=4.3e-01, do=-8.8e-01)

pfsArm
= (x=1960.92, 0=2.27)

T
|
| calExp
= (x=1960.48, 0=2.14)
I = Residual*5
|
|
I

= Trace

pfsArm

= (x=1960.60, 0=2.00)
calExp

= (x=1961.04, 0=1.13)

e Residual*s
== Trace

i it

Y=736 (dx=5.4e-01, do=-7.5e-01)

pfsArm
= (x=1957.48, 0=2.19)
calExp

== Trace

T
1
1
= Residual*5 I
1
1

Y=1719 (dx 1.4e-01, do=-3.1e- Ol)

= pfsArm

- =2, |

e o, I

| —Residual*5 I

w Trace l

|

]
. — ——
M- r

fsArm
— (x=1959.39, 0=2.05)

calExp
= (x=1959.53, 0=1.73)
= Residual*5

== Trace

calExp
o = (x=1959.17, 0=2.12)

.
Y=2702 (dx=5.0e-01, do=-5.7e-01)

pfsArm
= (x=1959.62, 0=1.72)

calExp
m—(x=1960.11, 0=1.15)
== Residual*5
= Trace

+=!

=] === Residual*5

Y=3684 (dx—-2 6e- 01 do=-1.7e- 02)

1950 1960 1970

1950 1960 1970

pfsArm

= (x=1962.11, 0=2.00) |
calExp |

= (x=1961.84, 0=1.98)
= Residual*5 I
- Trace ]
J I- |

L - b —
1
T

Y=982 (dx=4.1e-02, do=-5.2e-01)

= (x=1957.23, 0=2.03)

calExp
= (x=1957.27, 0=1.51)

Y=1965 (dx=1.2e-01, do=-

pfsArm
= (x=1959.05, 0=2.22)

e Residual*5
= Trace

Y
\

Y=2947 (dx l.1le- 01 do=-3.8e- 01)

i

£l

Y=3930 (dx=-1.8e-01, do=-1.8e-01)

pfsArm
= (x=1961.28, 0=2.08)

calExp
= (x=1961.40, 0=1.70)

== Trace

pfsArm
— (x=1961.92, 0=2.06)

calExp
= (x=1961.73, 0=1.88)
e Residual*s
= Trace

1950 1960 1970

I
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Y=245 (dx=-1.7e-01, do=3.9e-02)

f=480, X=1138.8

Y=491 (dx=5.0e-02, do=-1.2e-02)

pfsArm pfsArm
1 = (x=1133.46, 0=1.15) 1 = (x=1135.06, 0=1.16)
1 calExp 1 calExp
_ - = (x=1133.29, 0=1.19) T = (x=1135.11, 0=1.14)
m—Residual*s m—Residual*5
1 - Trace = Trace
- B I -
|
1
1
E o .
T | 1 T T T 1 T T
Y=1228 (dx=-2.2e-03, do=-2.7e-02) Y=1473 (dx=-2.2e-02, do=-1.4e-02)
pfsArm I pfsArm
1 = (x=1138.40, 0=1.15) 1 = (x=1139.18, 0=1.15)
1 calExp 1 calExp
T = (x=1138.40, 0=1.12) T = (x=1139.16, 0=1.13)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

Y=2210 (dx=-2.1e-02, do=-2.0e-02)

Y=2456 (dx=-1.1e-02, do=-1.1e-02)

m—— Residual*5
w— Trace

pfsArm pfsArm
| ™ (x=1140.68, 0=1.14) | ™ (x=1140.94, 0=1.16)
1 calExp 1 calExp
= (x=1140.66, 0=1.12) - = (x=1140.93, 0=1.15)

m— Residual*5
= Trace

Y=736 (dx=2.0e-02, do=-1.8e-02)

pfsArm
| ™ (x=1136.36,0=1.16)

1 calExp
= (x=1136.38, 0=1.14)

m—— Residual*5
== Trace

Y=1719 (dx=-1.9e-04, do=-2.3e-02)

I pfsArm
| ™ (x=1139.77,0=115)

i 1 calExp
= (x=1139.77, 0=1.13)

m——Residual*5
= Trace

Y=2702 (dx=-3.2e-02, do=-1.4e-02)

pfsArm
1 = (x=1141.15, 0=1.14)

N 1 calExp
= (x=1141.12, 0=1.12)

m——Residual*5
== Trace

1

Y=3193 (dx=-6.0e-02, do=-1.8e-02) Y=3439 (dx=-3.4e-02, do=3.8e-03) Y=3684 (dx=-2.1e-03, do=-2.2e-02)
T pfsArm _ pfsArm T pfsArm

i | = (x=1140.99, 0=1.16) | = (x=1140.69, 0=1.15) 1 = (x=1140.18, 0=1.13)
I = (cxalelxlpzm.Qa, 0=1.14) I r— (CSI:EH)AO 66, 0=1.16) I r— (cflelxlpllo.lS, 0=1.11)

e Residual*5
| Trace

m— Residual*5
= Trace

1130 1140 1150

1130 1140 1150

m— Residual*5
- == Trace

1130 1140 1150

Y=982 (dx=1.0e-02, do=-8.3e-03)
T

pfsArm
| ™ (x=1137.47,0=1.15)
1 calExp
T = (x=1137.48, 0=1.15)
— Residual*s
== Trace

Y=1965 (dx=-2.6e-03, do=-1.2e-03)

= I pfsArm
1 = (x=1140.31, 0=1.14)
1 calExp
= (x=1140.31, 0=1.14)
m—Residual*5
= Trace

Y=2947 (dx=-5.1e-02, do=-3.7e-03)

pfsArm
1 = (x=1141.17, 0=1.13)
N 1 calExp

—(x=1141.12, 0=1.13)
m——Residual*5
== Trace

1
Y=3930 (dx=-5.2e-02, do=-1.1e-03)

pfsArm
| ™ x=1139.38,0=1.14)

| calExp

= (x=1139.33, 0=1.14)
— Residual*s
- Trace

1130 1140 1150
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Y=245 (dx=3.8e-02, do=2.5e-02)

f=571, X=576.1

Y=491 (dx=5.4e-02, do=5.6e-03)

= (x=568.86, 0=1.15)
mm Residual*5

== Trace

pfsArm pfsArm
1 = (x=568.82, 0=1.12) 1 = (x=571.34,0=1.13)
1 calExp 1 calExp

. = (x=571.39, 0=1.14)
— Residual*s

w— Trace

1
Y=1228 (dx=9.9e-03, do=-2.7e-02) Y=1473 (dx=-5.4e-03, do=-9.8e-03)
I pfsArm I pfsArm
1 = (x=576.50, 0=1.13) 1 = (x=577.59, 0=1.12)
1 calExp _ 1 calExp
m—(x=576.51, 0=1.10) —(x=577.59, 0=1.11)
w— Residual*s w— Residual*s

== Trace

Y=2210 (dx=-5.2e-02, do=-7.9e-03)

Y=2456 (dx=-3.8e-02, do=-1.1e-03)

m——Residual*5

pfsArm pfsArm
1 = (x=579.44, 0=1.12) 1 = (x=579.59, 0=1.13)
1 calExp - 1 calExp
— (x=579.39, 0=1.12) = (x=579.55, 0=1.12)

mmResidual*5
= Trace

Y=3193 (dx=-4.2€.02, do=9.2e-03)

Y=3439 (dx=-2.7e-02, do=-1.6e-02)

e Residual*5
== Trace

pfsArm pfsArm
1 = (x=578.55, 0=1.13) 1 = (x=577.59, 0=1.14)
| calExp | calExp
= (x=578.51, 0=1.14) = (x=577.56, 0=1.12)

mm—Residual*5

- = Trace

570 580 590

570 580 590

Y=736 (dx=4.0e-02, do=-7.4e-03)

Y=982 (dx=2.2e-02, do=-1.5e-02)

T pfsArm
1 = (x=573.40, 0=1.13)
1 calExp
E = (x=573.44, 0=1.12)

w—— Residual*5

Y=1719 (dx=-1.3e-02, do=-3.8e-03)

I pfsArm
1 = (x=578.45, 0=1.13)

_ 1 calExp
= (x=578.43, 0=1.12)

m—— Residual*5
= Trace

Y=2702 (dx=-6.6e-02, do=9.26-03)

pfsArm

- 1 = (x=579.51, 0=1.13)
1 calExp

= (x=579.45, 0=1.14)

mm— Residual*5
w— Trace

Y=3684 (dx=-6.8e-02, do=-6.2e-03)

pfsArm
1 = (x=576.30, 0=1.14)
| calExp
= (x=576.23, 0=1.13)

mm Residual*5
w— | Trace

560 570 580 590

T pfsArm
1 = (x=575.13, 0=1.13)

1 calExp
= (x=575.15, 0=1.12)

m— Residual*5
== Trace

1
Y=1965 (dx=-3.6-02, do=-2.1e-03)
T fsArm
1 = (x=579.08, 0=1.12)
N | — (Cxafsxfg.o‘t, 0=1.12)

m—— Residual*5

Y=2947 (dx=-5.5e-02, do=-5.1e-03)

pfsArm
. 1 = (x=579.20, 0=1.14)
1 calExp

(x=579.14, 0=1.13)
m—— Residual*5
= Trace

Y=3930 (dx=-9.6e-02, do=1.3e-02)

. T pfsArm
1 = (x=574.54, 0=1.13)
| calExp
- = (x=574.44, 0=1.15)

-1 m—— Residual*5

560 570 580 590
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Y=245 (dx=7.1e-02, do=2.2e-02)

f=575, X=551.4

Y=491 (dx=9.8e-02, do=-1.4e-02)

T pfsArm
| ™ (x=543.87,0=122)

calExp
= (x=543.94, 0=1.24)
m— Residual*s
== Trace

pfsArm
= (x=546.46, 0=1.18)

calExp
= (x=546.56, 0=1.17)

w—— Residual*5

Y=1228 (dx=2.5e-02, do=-2.1e-02)

Y=1473 (dx=-7.4e-03, do=-7.6e-03)

T fsArm T pfsArm
1 = (x=551.69, 0=1.20) 1 = (x=552.80, 0=120)
calExp 1 calExp
= (x=55172, 0=1.18)

m——Residual*5
= Trace

= (x=552.79, 0=1.20)
mm Residual*5
== Trace

1 1

Y=2210 (dx=-3.7e-02, do=1.5e-02) Y=2456 (dx=-5.5e-02, do=-6.5€-03)
I pfsArm I pfsArm
1 = (x=554.67, 0=1.20) 1 = (x=554.80, 0=1.21)

calExp
m—(x=554.63, 0=1.21)
m——Residual*5

= Trace

calExp
(x=554.74, 0=1.21)

mmResidual*5

= Trace

Y=3193 (dx=-6.1e-02, do=6.5e-03) Y=3439 (dx=-7.3e-02, do=-3.4e-03)
T pfsArm i T pfsArm
1 m—(x=553.71, 0=121) 1 m—(x=552.71, 0=1.22)

calExp
= (x=553.65, 0=1.21)
m—Residual*5

calExp
- (x=552.64, 0=1.22)
mm Residual*5
= Trace

540 550 560

540 550 560

Y=736 (dx=2.8e-02, do=-6.4e-03)

pfsArm
1 == (x=548.55, 0=1.18)

calExp
= (x=548.58, 0=1.18)

w— Residual*5
= Trace

Y=982 (dx=1.1e-02, do=-4.4e-03)

Y=1719 (dx=-1.2e-02, do=-2.4e-02)

pfsArm
1 = (x=550.33, 0=1.17)

calExp
= (x=550.34, 0=1.16)

m— Residual*5

pfsArm
| ™ (x=553.67,0=120)

1 calExp
= (x=553.66, 0=1.17)

w—— Residual*5

= Trace

|

Y=1965 (dx=-9.0e-03, do=2.6e-02)
T
1 = ?;225.34, 0=1.15)

calExp
= (x=554.33, 0=1.18)

m—— Residual*5

1
Y=2702 (dx=-4.6e-02, do=-1.4e-02)
T
1 = fﬁiﬁ'ﬁ.n,m 21)
T 1 — 1C>?I=E;5'>)4.67, 0=1.20)

mm— Residual*5

Y=3684 (dx=-5.3e-02, do=2.7e-02)

1

Y=2947 (dx=-3.7e-02, do=1.2e-02)
T
1 = E)IiASr;Al,tml.lBD

calExp
(x=554.37, 0=1.19)

m—— Residual*5

= Trace

pfsArm
1 = (x=551.42, 0=1.18)

calExp
= (x=551.36, 0=121)

m—— Residual*5

1

Y=3930 (dx=-3.9e-02, do=3.7e-02)
T
1 = ?xfiAsrfawg.so, 0=1.20)

calExp
= (x=549.56, 0=1.23)
m—— Residual*5
= Trace

540 550 560

540 550 560
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Y=245 (dx=1.3e-01, do=-2.5e-02)

f=577, X=538.9

Y=491 (dx=8.5e-02, do=-2.2e-02)

pfsArm
T (x 531.40, 0=1.21)
T 53, 0m1100
e Residual*5
= Trace
i QR .

T pfsArm T
E 1 - = (x=534.01, 0=1.19) 1
1 calExp 1

= (x=534.10, 0=1.17)
e Residual*s
== Trace

pfsArm T
= =™ (x=536.13, 0=1.19) 1
calExp 1

Y=1228 ( dx—5.9e-02, do=-5.7e-02)

Y=1473 (dx=3.0e-02, do=-5.5e-02)

pfsArm
= (x=539.27, 0=121)

calExp
m—(x=539.33, 0=1.15)
e Residual*5

w= | Trace

-1 I pfsArm I
1 == (x=540.40, 0=120) 1
1 calExj 1

_ = 540 43, 0=1.15)

= Residual*5

1

Y=1719 (dx=2.5e-02, do=-5.0e-02)
— ;
T ?Ii?'ﬂ.ze, 0=121) 1

| == Trace

Y=2210 (dx=9.3e-03, do=-5.7e-02)

Y=2456 (dx=-3.5e-02, do=1.1e-04)

= Residual*5
7| == Trace

pfsArm T pfsArm T
= (x=542.25, 0=121) 1 = (x=542.42,0=1.18) 1

calExp. 1 calExp 1
= (x=542.26, 0=1.16) = (x=542.39, 0=1.18)

e Residual*5
w= | Trace

Y=3439 (dx=-2.2e-04, do=-7.2e-02)

= Residual*5
w= | Trace

pfsArm T pfsArm T

= (x=541.24, 0=124) 1 = (x=540.24, 0=125) 1

=1 calExp | calEx| |
= (x=54127, 0=1.16) - (x= 540 24, 0=1.17)

e Residual*5
w= | Trace

| = Tace

Y=736 (dx=5.6e-02, do=-3.4e-02)

= (x=536.18, 0=1.15)
e Residual*s
== Trace

calExp
== (x=541.28, 0=1.16)
= Residual*5

pfsArm
— (x=542.29, 0=122)

calExp
—(x=542.26, 0=1.19)
me= Residual*5
w—  Trace

Y=3684 (dx=-1.0e-01, do=6.0e-02)

pfsArm T
= (x=538.91, 0=1.17) 1

calExp |
= (x=538.81, 0=122)

e Residual*5

Y=982 (dx=6.7e-02, do=-5.6e-02)

pfsArm T
- = (x=537.79, 0=124) 1
calExp, l

_x= 537, 85, 0=1.19)
w—_ Residual*5
== Trace

L !

Y=1965 (dx=-5.0e-02, do=3.7e-02)

pfsArm T
= (x=541.88, 0=1.17) 1

calExp

= (x=541.83, 0=121)
== Residual*5
== Trace

A

Y=2947 (dx=-5.9e-02, do=2.8e-03)

pfsArm I
= (x=542.01, 0=1.16) 1

calExp 1
] = (x=541.95, 0=1.17)

= Residual*s
w—  Trace

Y=3930 (dx=-4.4e-02, do=9.9e-03)

pfsArm T
= (x=537.13, 0=1.19) 1

calExp |
= (x=537.08, 0=1.20)

= Residual*s
= Trace
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Y=245 (dx=-3.2e-01, do=-7.4e-02)

f=578, X=532.8

Y=491 (dx=-2.1e-01, do=-5.0e-02)

pfsArm
= (x=524.27, 0=2.01)

calExp
_(x= 523 95, 0=1.93)

T

|

I

e Residual*s I
=] == Trace l
1

|de . _:%t_ I Neta

pfsArm T
= (x=525.89, 0=2.04)
- calExp
- = 525 68, 0=1.99)
—_ Residual*5
w | Trace

Y=736 (dx=-1.5e-01, do=-1.9e-01)

Y=1228 (dx 2.7e-02, do=-1.6e- Ol)

Y=1473 (dx 9.4e- 02 do=-1.3e- 01

pfsArm
= (x=529.47, 0=1.97)

calExp
_(x= 529 32, 0=1.77)
m— Residual*s

== Trace

LR

pfsArm
— (x=532 29, 0=2.01)

calExp
= (x=532.32, 0=1.85)

=] m—Residual*5
= Trace

_ 'H',T:" L

pfsArm
= (x=533.19, 0=1.99)
calExj
_(x= 533 29, 0=1.86)
= Residual*5
= == Trace

Y=1719 (dx= 42e' 02, do=-1.7e-01)

Y=2210 (dx=-7.2e-02, do=-1.6e-01)

pfsArm
= (x=534.51, 0=1.92)
calExp
= (x=534.55, 0=1.74)
= Residual*5
= Trace

pfsArm I
= (x=535.58, 0=1.88) 1

calExp
= (x=535.51, 0=172)
7| = Residuai*s

= Trace

ﬁ“ﬂ T

—I—F-‘-

pfsArm
= (x=535.18, 0=1.95)

calExp
| == (x=535.07, 0=1.83)

e Residual*5

Y=2456 (dx—-l Oe 01, do=-1.2e- 01
= Trace

Y=3193 (dx=-9. 7e 02, do=-2.1e-01)

Y=3439 (dx—-l Oe-01, 'do=-1.5e- 01

pfsArm I
= (x=535.51, 0=1.88) 1
calExp 1

m—(x=535.52, 0=1.76)
= Residual*5
= Trace

|
Tt

pfsArm
- (x 534.27, 0=1.99) |

- 1x 534 17, 0=1.79) 1
= Residual*5 I
- Trace

Ll

Y=3684 (dx=5.2e-02, do=1.1e-01)

|1
pfsArm

(x=530.21, 0=1.73)

calExp
= (x=530.26, 0=1.84)
m— Residual*5
= Trace

5 540 550

pfsArm
| = (x=533.45, 0=1.90) |
calEx |
- (x= 533 35, 0=1.75)
= Residual*5
- Trace
- - ——
1

520 530

il

50

520 530 540

Y=982 (dx=-7.0e-02, do=-7.4e-02)

pfsArm T

= (x=529.56, 0=1.97) 1

calExp l
_x= 529 49, 0=1.89)

m— Residual*s 1

w Trace l

|

|

- — —
1

Y=1965 (dx 8.5e-02, do=9.1e-02)

pfsArm
== (x=533.37, 0=1.82)

calExp
= (x=533.45, 0=1.91)

= Residual*5
= Trace

pfsArm
= (x=533.12, 0=1.70)

calExp
= (x=533.15, 0=1.75)
= Residual*5
= Trace

Y=3930 (dx=4.4e-02, do=4.9e-02)

_| = (x=528.05, 0=1.67)

pfsArm T

calExp

(x=528.09, 0=1.72)
= Residual*s
= Trace

520 530 540
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Y=245 (dx=7.2e-02, do=1.3e-02)

f=579, X=526.6

Y=491 (dx=6.6e-02, do=-4.7e-03)

= (x=519.15, 0=1.13)
mm Residual*5
== Trace

pfsArm pfsArm
1 = (x=519.08, 0=1.12) 1 = (x=521.63, 0=1.12)
1 calExp 1 calExp

= (x=521.70, 0=1.12)
s Residual*5
w | Trace

= (x=527.01, 0=1.10)
mmResidual*5
== Trace

1
Y=1228'(dx=-5.5e-03, do=-1.9e-02) Y=1473 (dx=-9.6e-03, do=-9.6e-03)
T T
1 = F;sjsr; 01, 0=1.12) 1 — f’ﬁﬂ?&.u, 0=1.12)
1 calExp _ 1 calExp

= (x=528.13, 0=1.11)
w— Residual*5
= Trace

m—Residual*5
= Trace

1 1

Y=2210 (dx=-3.8e-02, do=1.4e-02) Y=2456 (dx=-6.6e-02, do=1.5e-02)
I pfsArm pfsArm
1 = (x=530.02, 0=1.12) 1 = (x=530.16, 0=1.12)
I — (C;‘:EJZPQ.QS, 0=1.13) [r— SI:E;(;O.OQ, 0=1.14)

m— Residual*5
w— Trace

N

Y=3193 (dx=-5.9e-02, do=8.2e-03)

Y=3439 (dx=-6.3e-02, do=1.5e-02)

mm—Residual*5
. = Trace

pfsArm pfsArm
1 = (x=529.00, 0=1.13) 1 = (x=527.99, 0=1.13)
| calExp | calExp
= (x=528.94, 0=1.14) = (x=527.92, 0=1.15)

m Residual*5
w— Trace

520 530 540

520 530 540

Y=736 (dx=5.4e-02, do=-1.6e-02)

T pfsArm
| = (x=52377,0=112)

- 1 calExp
= (x=523.82, 0=1.10)

w— Residual*5
= Trace

Y=982 (dx=1.7e-02, do=-1.3e-02)

T pfsArm
1 = (x=525.55, 0=1.12)

1 calExp
= (x=525.57, 0=1.11)

m— Residual*5
== Trace

1
Y=1719 (dx=-2.1e-02, do=-1.0e-02)
T
1 = ?;iAsrzne‘)voz, 0=1.12)
T | — ((xafsxng,oo, 0=1.11)

m—— Residual*5
= Trace

1
Y=1965 (dx=-2.8e-02, do=7.0e-03)

T pfsArm
1 = (x=529.62, 0=1.11)
1 calExp

= (x=529.59, 0=1.12)

m—— Residual*5
= Trace

1
Y=2702 (dx=-7.6e-02, do=1.5e-02)
E T
1 = F:S:Asr3m0.06,o=1.13)
1 calExp

m—(x=529.98, 0=1.14)
m—— Residual*5
| Trace

S

Y=3684 (dx=-6.2e-02, do=1.5e-02)

1

Y=2947 (dx=-5.7€-02, do=1.4e-02)
T
| ?Iiirz'g 66, 0=1.13)
I r— ((:LESXZ% 60, 0=1.15)

m—— Residual*5
== Trace

T pfsArm
1 = (x=526.57, 0=1.14)

| calExp

= (x=526.50, 0=1.15)
m—— Residual*5
= Trace

Y=3930 (dx=-5.1e-02, do=1.4e-02)

510 520 530 540

pfsArm
| =™ (x=524.73,0=114)
| calExp
= (x=524.68, 0=1.15)

m— Residual*5
= Trace

510 520 530 540
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Y=245 (dx=2.1e-02, do=-2.0e-02)

f=580, X=520.4

Y=491 (dx=1.5e-01, do=-1.7e-01)

| Ky

pfsArm
= (x=512.68, 0=1.90)

calEx
- (x= 512 70, 0=1.88)
e Residual*5

== Trace

LI

pfsArm
= (x=515.48, 0=1.76)

calEx
- x= 515 63, 0=1.59)
e Residual*5

== Trace

(dx=2.4e-02, do=-3.4e-02)

=<
Il
=
N
N
(o]

Y=1473 (dx=1.4e-01, do=-1.6e-01)

pfsArm

= (x=520.75, 0=1.85)
calExp

= (x=520.77, 0=1.82)

= Residual*s

- Trace

fsArm
- (x 522.82, 0=1.97)

e (x 522 97, 0=1.80)
wemm Residual*s
== Trace

Y=2210 (dx=-2. Te- 02 do=-1.3e- 02)

Y=2456 (dx=2. 2e- 01, do=-9.8e- 02)

NiRs

'SArm
— (x=523.74, 0=1.72)

calExp
m—(x=523.71, 0=1.71)

e Residual*5
1 - e

T

pfsArm
= (x=524.87, 0=1.86)

calExp
= (x=525.09, 0=1.76)

e Residual*s
== Trace

1

Y=3193 (dx=-5.9e-02, do=-5.2e-02)

Y=3439 (dx=1.3e-02, do=-1.3e-01)

- JIIN:

pfsArm
= (x=522.71, 0=1.83)

calExp
T I = (x=522.65, 0=1.78)
—~ s Residual*5
w=  Trace

-

I |
pfsArm
= (x=521.68, 0=1.68)
calExp
= (x=521.69, 0=1.55)
I | == Residual*s
= Trace

510 520 530

4

510 520

Y=736 (dx=3.7e-01, do=-2. 8e—01)

Y=982 (dx=1.9e-01, do=-2.3e-01)

pfsArm
= (x 517.50, 0=2.00)
Exp
™ (x 517 87, 0=1.71)

= Residual*5
= Trace

+i1

Y=1719 (dx=-4.3e-02, do=-3.3€-02)

pfsArm
= (x=519.57, 0=2.01)
calExp
_(x= 519 76, 0=1.77)
— Residual*s
== Trace
. .[L IJ-LJ_ _[ 041

Y 1965 (dx=1.0e-01, do=-1. le- 01)

I HIn

pfsArm.
= (x=522.75, 0=1.78)

calExp
= (x=522.71, 0=1.75)
mem Residual*s
w= | Trace

sl

nfh

pfsArm
= (x=523.86, 0=1.80)

calExp
= (x=523.96, 0=1.69)
e Residual*5

- Trace

o

Y=2702 (dx—-l le-01, do=1.8e- 02)

qL

T 1x 52371 0=1.66)

lx:523.59, 0=1.68)
e Residual*5
w— | Trace

M

calExp
(x=523.96, 0=1.69)
e Residual*5

Y=2947 (dx= 1.4e- 01, d0|=-1.4e-01)
= Trace

mﬁq‘ p,
H

Y=3684 (dx—-l le-01, do=4.6e- 02)

pfsArm
Y=3930 (dx—l 9e-01, do=-2.7e- 01)

pfsArm
= (x=520.98, 0=1.64)
I calExp

= (x=520.87, 0=1.69)
= Residual*s

== Trace

pfsArm

= (x=518.63, 0=1.89)
calExp

= (x=518.83, 0=1.62)

e Residual*s

w  Trace

= (x=523.82, 0=1.83)
: |- i
T

510

Iy

510 52
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f=581, X=514.2

Y=245 (dx=3.1e-02, do=1.2e-01) Y=491 (dx=9.4e-04, do=-1.8e-02) Y=736 (dx=-1.1e-01, do=-3.8e-02) Y=982 (dx=-6.9e-02, do=-5.9e-02)
T pfsArm T T pfsArm pfsArm T T pfsArm
1 = (x=506.53, 0=1.19) 1 = (x=509.30, 0=1.28) === (x=511.48, 0=129) 1 = (x=513.32, 0=1.33)
1 — calExp 1 — calExp o calExp 1 o calExp
(x=506.56, 0=1.32) (x=509.31, 0=1.26) (x=511.37, 0=1.26) _ (x=513.25, 0=1.27)
. — Residual*s — Residual*s 7| = Residual*s — Residual*s
== Trace - == Trace == Trace == Trace

L fade

Y=1228 (dx=-1.3e-02, do=9.7e-02) Y=1473 (dx=7.9e-02, do=1.3e-01) Y=1719 (dx=4.1e-02, do=8.3e-02) Y=1965 (dx=-9.0e-02, do=9.5¢-02)
I pfsArm- - I pfsArm- il I pfsArm- o N I pfsAr-m T

1 = (x=514.53, 0=121) 1 = (x=515.64, 0=125) 1 = (x=516.54, 0=1.22) 1 = (x=51727, 0=1.19)

T | = (Cffsxfuz, 0=1.30) | i (C;‘:Esxlpiﬂ, 0=1.38) T 1 — (C:LEsxlpe.sa, 0=1.30) | i (Cxafsxlprw, 0=1.29)

e Residual*5 -1
= Trace

e Residual*s
= Trace

e Residual*5 e Residual*5

w— Trace

L 4

1
Y=2210 (dx=-6.0e-02, do=1.5e-01) Y=2456 (dx=-1.2e-01, do=7.3e-02) Y=2702 (dx=-6.8e-02, do=5.5e-02) Y=2947 (dx=-1.4e-01, do=1.5e-01)
I pfsArm I pfsArm I pfsArm -1 I pfsArm
1 = (x=517.54, 0=123) | = (x=517.64,0=127) 1 = (x=517.55, 0=1.26) 1 = (x=517.31, 0=124)

calExp
(x=517.16, 0=1.40)

e Residual*5

w Trace

1 calExp 1 calExp
-1 = (x=517.48, 0=1.37) = (x=517.53, 0=1.34)
e Residual*5 e Residual*5

- Trace w1 Trace

calExp
(x=517.48, 0=1.31)

= Residual*5

w— Trace

Y=3193 (dx=-6.7e-02, do=1.3e-01) Y=3439 (dx=-9.1e-03, do=1.0e-02) Y=3684 (dx=-1.4e+00, do=9.2e-02) Y=3930 (dx=-2.2e-01, do=3.4e-02)
1 T pfsArm T pfsArm . T pfsArm T pfsArm

1 - (x=516.50, 0=122) 1 - (x=515.46, 0=123) 1 = (x=514.08, 0=1.15) 1 = (x=512.37, 0=1.30)

| = ff‘:EsxfsAA, 0=1.36) 7 = ff‘:Esxlps.ﬁ, 0=124) | - (cfles)(fz.as, 0=1.24) = ?:I:Esxlpz.ls,azl.ui

e Residual*s
= Trace

e Residual*s
= Trace

me= Residual*5 -
- Trace

e Residual*5
= Trace

L ol

500 510 520 530 500 510 520 530 500 510 520 530 500 510 520
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f=630, X=209.5

Y=245 (dx=3.1e-01, do=1.6e-02) Y=491 (dx=2.7e-01, do=-8.3e-02) Y=736 (dx=4.3e-01, do=8.8e-03) Y=982 (dx=8.4e-01, do=-4.9e-02)
IR a3l 11 N
1 1
n |! 1 M I_ d i !
pfsArm I pfsArm - pfsArm pfsArm 1
= (x=199.40, 0=1.93) 1 = (x=203.26, 0=1.65) === (x=205.51, 0=1.87) === (x=207.35, 0=1.86) _1
— 2 71, ot 1.94) "-1 s 53, 0m1.5m —_—es.95, 0-188) [ —_— e 100k 181) 1
m—— Residual*s e Residual*s 7| == Residual*5 7| = Residual*s .
- Trace J- 1 - Trace t - Trace J- - Trace -
1
---.-1k--1- j | -1-+-% | ---T1--- 1 | --t | 1
'!l
Y=1228 (dx=1.6e-01, do=-3.0e-01) Y=1473 (dx=6.8e-01, do=-2.0e-01) Y=1719 (dx=9.7e-01, do=-4.1e-01) Y=1965 (dx=5.4e-01, do=-3.3e-01)
I L I 1 —pfsArm J
1 = | ™ (x=21034,0=1.92) |
[ ] 1
- (x=211,02, 0=1.72) | i
o pisAm 1 —Residuals __ pfsAm 1 1 __ pfsArm
(x=209.93, 0=1.63) 0 | = e (x=211.35, 0=1.94) (x=212.40, 0=1.82)
— .09, 0e1.32) 1 _ -1 J= 520150 ] % e (0, 03, . a0]
7| =— Residual*s ~ 1l 1. = Residual*s -{ | = Residuaits .
= Trace 1 — Trace 1 I == Trace
SLL LYl 1L-Lo1d g AL il =l ITEd--1-L 1
I' i)
Y=2210 (dx=5.1e-01, do=-1.2e-01) Y=2456 (dx=9.9e-01, do=-3.3e-01) Y—2702 (dx=2.1e-01, do=-2.4e-01) Y=2947 (dx=7.2e-01, do=1.4e-01)
T T T
1 = F:?zr{ns 32, 0=1.65) | Lﬂ-l_ = | | - F:igr{ns.zz,u=1.6s) t 1 = E):iAsz.zs, 0=1.74)
|~ 1 — (C:‘:E;& 83, 0=153) T i 1 — (Cxalflepa.u, 0=1.40) 7] : — (c:gfz.gs, 0=1.88)
fl, = e — 5o | L ] e et
1 E (CEI:E;{)4.37, 0=1.33) -L = - q-
1 —Residual*s B
1 I = Trace L- : = m I
Hi ]
T T 1 T T T T T T T T -! T ”
Y=3193 (dx=2.4e-01, do=-1.7e-01) Y=3439 (dx=-3.4e-02, do=-1.1e-01) Y=3684 (dx=1.2e-01, do=-3.7e-01) Y=3930 (dx=6.5e-01, do=2.4e-01)
"-k T pfsAm pfsAm R | -|- T pfsArm T
1 = (x=21121, 0=1.73) = (x=210.11, 0=1.60) n 1 = (x=205.43, 0=1.69) 1
| L calEx| i calEx ] | - calExp |
ne (x=211.45, 0=1.55) (221007, 0=1.49) | (x=206.08, 0=1.93)
=t ik | s A ! | it 1] 1‘],
. | b m = (cflEz& 50, o=1. 47) L -I-{
— Residuals 1
== Trace I
i1
B R - e = . - 4 - =117 -
1
T T

200 210 220 220 190 200 210 220
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f=631, X=203.2

Y=245 (dx=-3.7e-01, do=-2.5e-01) Y=491 (dx=-1.6e-01, do=-2.2e-02) Y=736 (dx=-1.5e-01, do=-1.3e-01) Y=982 (dx=-1.0e-01, do=-1.8e-01)
T - T T T
. 1 = {)fo:A{grg.sn 0=1.94) 1 — r:iAlrggs.M, 0=1.96) . 1 — ?;S;S&‘z.sg, 0=1.94) 1 — F:S:A;&.m, 0=1.89)
1 calExp 1 calExp 1 calExp 1 calExp
— (x=192.20, 0=1.69) = (x=195.88, 0=1.94) = (x=198.44, 0=1.81) - = (x=200.29, 0=1.71)
: = Residual*5 T : m— Residual*5 : m—Residual*5 : m—Residual*5
== Trace w | Trace == Trace == Trace
. 1 1 . 1 1 1
| 1 | |
1
o o o - ___._.I T o ]
T T T T Ir 1 T T nI II T T 1 T T
Y=1228 (dx=-9.6e-03, do=-1.9e-01) Y=1473 (dx=-1.0e-01, do=-1.9e-01) Y=1719 (dx=-7.4e-02, do=-1.5e-01) Y=1965 (dx=1.1e-01, do=-4.0e-02)
I pfsArm I pfsArm I pfsArm I. I pfsArm
T 1 = (x=203.13, 0=1.90) 1 = (x=203.01, 0=1.69) 1 = (x=204.06, 0=1.72) -1 1 = (x=205.56, 0=1.93)
1 — calExp 1 o calExp 1 — calExp 1 o calExp
(x=203.12, 0=1.71) (x=202.91, 0=1.50) (x=203.99, 0=1.56) (x=205.67, 0=1.89)
: e Residual*5 : = Residual*5 : = Residual*5 : = Residual*5
= Trace — = Trace - = Trace = Trace
T | | 7] |
L 1 | 1
]-_L [ | I lJ-'-'I I I
4 = - 4 - - - - - "-I - - - — T
T T T I- T 1 T T T T 1 T T T 1 T T
Y=2210 (dx=3.3e-02, do=2.9e-02) Y=2456 (dx=-1.0e-02, do=-2.6e-02) Y=2702 (dx=-2.3e-02, do=-1.1e-01) Y=2947 (dx=-1.6e-01, do=-2.6e-01)
-1 I pfsArm T I pfsArm I pfsArm I pfsArm
1 = (x=204.94, 0=1.65) 1 = (x=204.92, 0=1.64) 1 = (x=205.93, 0=1.95) N I = (x=203.83, 0=1.58)
1 — calExp 1 o calExp 1 — calExp 1 — calixp
(x=204.98, 0=1.68) (x=204.91, 0=1.61) — (x=205.91, 0=1.84) (x=203.66, 0=1.32)
: e Residual*5 : = Residual*5 : = Residual*5 : = Residual*5
- Trace _ = Trace = Trace
1 1 | 1 7 1
| | 1 |
1 1 1
T 1 T T T T T T I T T T L T T
Y=3193 (dx=-8.0e-02, do=-1.4e-01) Y=3439 (dx=-6.7e-03, do=-1.3e-01) Y=3684 (dx=-1.5e-01, do=-1.9e-01) Y=3930 (dx=-5.0e-02, do=-3.9e-02)
T T T T T
1 = giAz%g‘ag, 0=1.62) 1 e r:iAzréna‘la,o=1‘94> l- L 1 — fxfiAzréwo.so, 0=1.96) 1 — fxfiqr;.u, 0=1.78)
| calExp | calExp | calExp . | calExp
= (x=202.81, 0=1.49) n = (x=203.13, 0=1.80) - == (x=200.45, 0=1.78) = (x=197.09, 0=1.74)
: e Residual*s : = Residual*5 1 : = Residual*5 : = Residual*5
- = Trace - Trace = - Trace = Trace
1 1 | 1 i 1
| T | |
1 1
1

1
190 200 210 220 190 200 210 220 190 200 210 190 200 210
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Y=245 (dx=5.3e-02, do=1.7e-02)

f=632, X=197.0

Y=491 (dx=7.4e-02, do=-7.1e-03)

T pfsArm
| ™ (x=187.89,0=121)

1 calExp
= (x=187.95, 0=1.23)

= Residual*5
= Trace

T pfsArm
1 = (x=191.27, 0=1.16)
1 calExp

= (x=191.35, 0=1.15)

w—— Residual*5
= Trace

Y=1228 (dx=1.9e-02, do=-2.8e-02)

Y=1473 (dx=-1.4e-02, do=-1.7e-02)

T pfsArm T pfsArm
1 = (x=198.03, 0=1.14) 1 = (x=199.41, 0=1.15)
1 calExp T 1 calExp

= (x=198.05, 0=1.12) = (x=199.39, 0=1.14)

mm Residual*5
= Trace

m—— Residual*5
= Trace

1

Y=2210 (dx=-5.0e-02, do=2.1e-03) Y=2456 (dx=-7.4e-02, do=3.8e-03)
T T
1 = F:S:zrgnl 51, 0=1.16) 1 — z?zrngnl.ss, 0=1.17)
1 e (C;‘:E;gl 47, 0=1.16) 1 r— SI:EZXSMB, 0=1.17)

m—Residual*5
= Trace

m— Residual*5

Y=3193 (dx=-7.4e-02, do=1.8e-03)

Y=3439 (dx=-9.4e-02, do=1.7e-03)

pfsArm pfsArm
1 = (x=199.53, 0=1.18) 1 = (x=198.07, 0=1.16)
| calExp | calExp
= (x=199.46, 0=1.18) = (x=197.97, 0=1.16)

mm—Residual*5
= Trace

m Residual*5

190 200 210

190 200 210

Y=736 (dx=4.1e-02, do=-6.6e-03)

T pfsArm
| ™ (x=193.90,0=121)
1 calExp

= (x=193.94, 0=121)

w—— Residual*5
= Trace

1
Y=1719 (dx=-4.1e-02, do=-1.1e-02)

I pfsArm

i 1 == (x=200.45, 0=1.15)
1 calExp

= (x=200.41, 0=1.14)

m—— Residual*5
= Trace

Y=2702 (dx=-4.9e-02, do=-2.7e-03)

I pfsArm
1 = (x=201.28, 0=1.16)
1 calExp

= (x=201.23, 0=1.16)

mm— Residual*5

Y=3684 (dx=-8.9e-02, do=1.0e-02)

pfsArm
1 = (x=196.08, 0=1.16)
| calExp
. = (x=195.99, 0=1.17)

m—— Residual*5
w— Trace

180 190 200 210

Y=982 (dx=2.6e-02, do=-2.3e-02)
T

pfsArm
1 = (x=196.23, 0=1.15)

4 1 calExp
= (x=196.25,0=1.12)

m— Residual*5
== Trace

1
Y=1965 (dx=-3.6e-02, do=-4.8e-03)
T
T 1 = ?Iizr$.17,a=1.14h
1 calExp

= (x=201.14, 0=1.14)
m— Residual*s
== Trace

1

Y=2947 (dx=-4.9e-02, do=-4.8e-04)
T
1 = E)IiAzr(TU.sa 0=1.18)
1 [ ((:LE;(;]O.SA, 0=1.18)

m—— Residual*5
== Trace

I
Y=3930 (dx=-8.2e-02, do=3.0e-02)
T
T | P83.49, 0=117)
| = (cflelxgml, 0=1.20)

m— Residual*5
= Trace

180 190 200
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Y=245 (dx=7.8e-02, do=-2.3e-02)

f=633, X=190.7

Y=491 (dx=5.5e-02, do=-8.1e-02)

= (x=181.77, 0=1.16)
w— Residual*s
== Trace

pfsArm T pfsArm T
- = (x=181.69, 0=1.18) 1 = (x=184.97, 0=1.17) 1
calExp calExp

1 x= 135 03, 0=1.09)

e Residual*s
= Trace

Y=1473 (dx=-1.7e-02, do=-3.8e-02)

= Residual*5
= Trace

- pfsArm I pfsArm I
= (x=191.78, 0=1.17) 1 = (x=193.24, 0=120) 1
calExp calExj 1

= (x=191.78, 0=1.14)

| == Trace

_(x= 193 22,0=1.17)
e Residual*5

Y=2210 (dx=-4.2e-02, do=-1.8e-02)

pfsArm I
= (x=195.35, 0=1.20) 1

calExp 1
= (x=195.30, 0=1.18)

=] === Residual*5
w— Trace

pfsArm I
= (x=195.38, 0=1.20) 1

calExp

= (x=195.35, 0=1.19)
e Residual*5

w— Trace

pfsArm

= (x=193.35, 0=121) 1
calExp

= (x=193.28, 0=1.19)

= Residual*5
w— | Trace

- calEx

pfsArm

= (x=191.79, 0=1.19) 1
]

= (x=191.71, 0=1.18)

= Residual*5

- Trace

4 pfsArm

180 190 200

180 190 200

Y=736 (dx=4.8e-02, do=-5.0e-02)

-1 pfsArm T
= (x=187.73, 0=1.19) 1

calExp
= (x=187.78, 0=1.14)
m— Residual*s

| = Trace

- pfsArm T

== Trace

pfsArm I
= (x=194.28, 0=120) 1

calExp
= (x=194.24, 0=1.16)
= Residual*5

—{ == Trace

- pfsArm I
= (x=195.11, 0=122) 1

calExp
m—(x=195.04, 0=1.21)
e Residual*5

= Trace

= (x=189.80, 0=1.18) 1

calExp
= (x=189.69, 0=1.18)
e Residual*5
= Trace

Y=982 (dx=1.3e-02, do=-2.2e-02)

= (x=189.95, 0=1.16) 1

calExp
= (x=189.97, 0=1.14)

e Residual*5

Y=1965 (dx=-4.4e- 02 do=1.0e- 04)

il

Y=2947 (dx=-5.7e-02, do=-1.8e-03)

pfsArm T
= (x=194.41, 0=121) 1
calExp 1
= (x=194.35, 0=120) _
= Residual*5
- Trace

pfsArm '
(x=194.93, 0=1.16)

calExp
_(x= 194 88, 0=1.16)
= Residual*5

== Trace

Y=3930 (dx=-7.5e-02, do=8.6e-03)

180 190 200

pfsArm

— (x=187.27, 0=122)
calExp

= (x=187.20, 0=1.22)

e Residual*5
= Trace

200

180 190



